CTET L1 ENGLISH L2 HINDI P1

Topic:- CDP_P1_S1_CTET
1) Which period marks the transition from childhood to adulthood ?
(1) Early childhood
(2) Middle childhood
(3) Preoperational period
(4) Adolescence

FATT F FATEAT & THATTHA FT THT FIF-A7 ¢ 2

(1) 9= FTeATEEAT
(2) FrEAtE ATeATEET
(3) TH-HTFATHT AT
(4) FeteTaeaT

[Question ID = 1][Question Description = CTET_P1_PART_1_CDP_SET_124_Q1]

1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2) Which of the following would require use of gross motor skills ?
(1) Painting on a paper using brush
(2) Cutting and pasting bits of paper
(3) Threading the needle
(4) Walking and running

e § # Forer TorT =211 T 1erer 3 3T AT ATeTFAT AT ?

(1) &er 7 9T 97 FTET FHTAT

(2) 99T = T FeAT AT =TT
(3) 7T & GWIT ST

(4) =TT AT ZA=AT

[Question ID = 2][Question Description = CTET_P1_PART_1_CDP_SET_124_Q2]

1. 1 [Option ID = 5]
2. 2 [Option ID = 6]
3. 3 [Option ID = 7]
4. 4 [Option ID = 8]



3) Thefirst primary agent of socialization is
(1) family
(2) school
(3) friends
(4) media

HATHTS 20T T TIH TET
(1) af=T™

(2) =
(3) 3=
(4) Hifzar

[Question ID = 3][Question Description = CTET_P1_PART_1_CDP_SET_124_Q3]
1 [Option ID = 9]

2 [Option ID = 10]

3 [Option ID = 11]

4 [Option ID = 12]

A W N -

4) The belief that physical objects such as dolls, cars, etc have life-like qualities is called -
(1) animistic thinking
(2) hierarchical thinking
(3) centration

(4) categorization

I |reAar o @i aequ S5 AT, FT F TS 007 21 2 AT Fgeardl g ?
(1) STr==aTaT 7=
(2) TETTHET AT
(3) TR
(4) A=
[Question ID = 4][Question Description = CTET_P1_PART_1_CDP_SET_124_Q4]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]

3. 3 [Option ID = 15]
4. 4 [Option ID = 16]



5) Assertion (A) :
Four-year-old Riya cannot take into consideration the height and width of the two beakers at

the same time while pouring the same amount of water into tall and wide beakers.

Reason (R) :
Riya is at Preoperational stage of cognitive development as per Jean Piaget.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

)

)
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.

FIAFT (A) -

=T aut Far @ &Y 31 37 F99 § OF g a9T § JHE G0 § IO Sted
T FAAT H1 HATS AT F(ETE FT TF 0 T97 F &9 § A2 77 T g |
FTT(R) -

st Tt = e o demreas B & qE-afmareas 9 H g
el fAaFeT 7 |

(1) (A) 3% (R) =T &L § 7 (R), (A) FT AT =ATAT FLAT |

(2) (A) 31T (R) =TT &L @167 (R), (A) T /LT =0T T € |

(3) (A) T & A6 (R) T4 ¢ |

(4) (A) &= (R) Frt T £

[Qut[estion ID = 5}[Question Description = CTET_P1_PART_1_CDP_SET_124_Q5]

2. 2 [Option ID = 18]

3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

6) Giving cues and offering support to children as and when required is an example of

(1) Scaffolding

(2) Reinforcement
(3) Conditioning

(4) Cognitive conflict

HeRd | o e LT QT == 1 0l Weed Teq T7 TEE FIAT et S20gem g ?

(1) arE
(2) T
(3) sFgaET
(4) F=ATHT 35

[Question ID = 6][Question Description = CTET_P1_PART_1_CDP_SET_124_Q6]
1. 1 [Option ID = 21]



2. 2 [Option ID = 22]
3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7) The application of Vygotsky's theory to children’s education proposes

(1) collaborative learning
(2) operant learning
(3) rote learning

(4) passive learning

Tt 7 foreT  form AvnTeet F T i AT ST AT S
(1) T WITHS ATETH

(2) T AtaTs

(3) T&wT AfaTT

(4) FRfesr srfam
[Question ID = 7][Question Description = CTET_P1_PART_1_CDP_SET_124_Q7]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]

3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8) In Kohlberg's of moral development the individual strives to maintain the
expectations of others rather than focus on the consequences of one’s actions.

(1) Preoperational level

(2) Pre-conventional level
(3) Conventional level
)

(4) Post-conventional level

FIEAT & dqia® =AH & e 300 | =5 9uq =ZEge F 7R & a9
(1) TH-H T =7
(2) TH-TEATITE F90
(8) TEHEHTT FE0
(4) TA-TTIITT 50T
[Question ID = 8][Question Description = CTET_P1_PART_1_CDP_SET_124_Q8]
1 [Option ID = 29]
2 [Option ID = 30]

3 [Option ID = 31]
4 [Option ID = 32]

A wWN =



9) A progressive classroom is

(1) Examination-centric
(2) Textbook-centric
(3) Teacher-centric

(4) Learner-centric

T Feriaefer Far
(1) TreAT-Hfeaa gt 2
(2) TTEIETE- iR Bl 8
(3) Fre=m-FesT grar €
(4) FF=mfi-Fiea grdar g
[Question ID = 9][Question Description = CTET_P1_PART_1_CDP_SET_124_Q9]
. 1 [Option ID = 33]
. 2 [Option ID = 34]

1
2

3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10) Renu is a counsellor at a school. Which intelligence should she have to be an effective
counsellor as per Howard Gardner’s theory 7
(1) Linguistic
(2) Spatial
(3) Interpersonal
(4)

4) Intrapersonal

] UE FEmew § uemeEEn € ) g WeAw & Mared & AqEre TErEt
TETHITETAT % B § IS TH HA-AT qlg gl AMET ?

[Question ID = 10][Question Description = CTET_P1_PART_1_CDP_SET_124_Q10]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11) According to NEP 2020, which language should a teacher use for interacting with primary
school children during the teaching-learning process ?

(1) Only the regional language

)
(2) Only Hindi language
3) Only English language
)

(
(4) Mother tongue of the children



ety forear /ifa 2020 F s, v forers = forgor-afamms sfawar & S
ATHAT T F T==1 & H9gor F o B G F71 99090 FA17 Jiig0 ?

(1) F=eT ST qTIT F

(2) Farer T24T |raT 7

(3) FAT SIS ATHT T

(4) T==1 =¥ JIF AT FT
[Question ID = 11][Question Description = CTET_P1_PART_1_CDP_SET_124_Q11]
1 [Option ID = 41]
2 [Option ID = 42]

3 [Option ID = 43]
. 4 [Option ID = 44]

AW N =

12) Five-year-old Vaishali told her mother. “"Mother, | want a football like Amit.” Responding to
Vaishali, her mother said, "Only boys play with football, | will bring a small cute doll for you.”
The mother’s response illustrates
(1) Gender Role Flexibility
(2) Gender Equity

(3) Gender Stereotyping
(4) Gender Relevance

TIS | 6T AIATAT T ATHT A1 H Figl | “HF, TH AHT A T7g Feara A |
FATAT FT AT Iq gL IT01 A1 F Fgl, "FeaTa § q1 Faq A+ gad g, &
Trer oo v gy = = A asst 17 |9t w saw =1 fEmEr g 2

(1) Si=7 o= & T
(2) o T FroaT

(3) feivr =igargar

(4) o1 wTE AT

[Question ID = 12][Question Description = CTET_P1_PART_1_CDP_SET_124_Q12]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13) Labelling of children and placing them in categories

(1) enhances and facilitates meaningful learning.
(2) creates a sense of helplessness and inferiority amongst a group of children.
(3)is a positive strategy to manage the learning needs of all children.

(4) does not have any impact on the self-esteem and performance of children.



F=AL T ATHIHI0T 7 v AN | AleAT

(1) 3TqoT H T T FTETAT ST T TATTET FHT |

(2) ==t % Tgg F ST dre #a i A= F S =w |

(3) =T === F ATHITH T FTELAL T LI FH2q 6 T T TR T 2 |
(4) F=AT F AT AT TIAT UL 1L TATT TET ST |

[Question ID = 13][Question Description = CTET_P1_PART_1_CDP_SET_124_Q13]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14) Continuous and comprehensive evaluation means

(1) comparing the students with each other

(2) assessment covering all aspects of school activities related to child's overall development
(3) evaluation of child's performance on the basis of scholastic activities only

(4) evaluation of the children at the end of the year to determine promotion to the next class

AT T T GeA A & 797 7T g 2
(1) =TT it UEH-ZHT T AT HIAT

(2) 7= F =T+ FAFwrE T S qdT SpeAr TAAETAT F AvAd & qH T
T 9IRS F2AT
(3) FAT SITar TIATATETT & A % T=A1 % T AT oATHT FoAT
(4) |1 F 3T H T=A1 T GATHA HIAT 9ol el FeAT § TZeA1 F1 (=0T
@ = TorT gearTeE
[Question ID = 14][Question Description = CTET_P1_PART_1_CDP_SET_124_Q14]
. 1 [Option ID = 53]
. 2 [Option ID = 54]

1
2
3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15) Effective teachers often use probing questions during the course of teaching-learning
processes in the classroom. This would enable the teacher to undertake

(1) Summative assessment
(2

)

) Formative assessment

3) Standardised assessment
)

(
(4) Norm-referenced assessment



b O e o 1 e O ) s o e S e e o 0 e = S el e e T e B = o B
AR 74 & | T a® F1 F gH6 #7 geaiEa F79 § 733 {2

(1) TR Gedih

(2) THATHF AT

(3) AT qeai=e
(4) AR T oA

[Question ID = 15][Question Description = CTET_P1_PART_1_CDP_SET_124_Q15]
1. 1 [Option ID = 57]
2. 2 [Option ID = 58]
3. 3 [Option ID = 59]
4. 4 [Option ID = 60]

16) Role of teacher in an inclusive classroom is to
(1) address and respond to the diverse needs of all children
(2) give attention to some special students ony
(3) identify and segregate children based on their academic abilities

(4) refer special needs children to a specialist and ensure that they are taught in a separate
section

= FHTAT FeAr | forferwr 7 7 v g 2

(1) ===t F1 A= STE=LAT FT TAT AT T 07 24T TG
(2) FAeT T T A=A a7 e 3T
(3) T=AT HT ITHT AFTIHF AHAT F AT T TgATAAT o IeAHT JIFHLIT FHTAT
(4) BT FEIAT AT F=a1 0 AT F I IST4T T A2 F7A77 % Ieg, AT
T § 9T o
[Question ID = 16][Question Description = CTET_P1_PART_1_CDP_SET_124_Q16]
1. 1 [Option ID = 61]
2. 2 [Option ID = 62]

3. 3 [Option ID = 63]
4. 4 [Option ID = 64]

17) What should a teacher keep in mind while teaching a diverse group of learners ?
(i) Acknowledge and respect every student
(i) lgnore cultural differences
(iii) Maintain consistent communication
(iv) Give indirect instructions

(v) Give students autonomy and flexibility

(1) (1) (i) (iif)
(2) (i) (iii) (iv)
(3) (i) (i) (v)
(4) (i) (iv) (v)



Aty oag & F=nf@=t & e % S us T &0 a1 | § T e
e ?
(i) = Fremff =i ST 7 ae Z=
(i) FieRta® ATI=Taret =1 d9=ar F247
(iii) TET HATOT FATT T
(iv) soreaer f3er 30
(v) TEr=nfae v sara=ar & ST 59
(1) (i) (i) (iii)
(2) (i) (i) (iv)
(3) (1) (i) (v)
(4) (iii) (iv) (v)

[Question ID = 17][Question Description = CTET_P1_PART_1_CDP_SET_124_Q17]
1. 1 [Option ID = 65]
2. 2 [Option ID = 66]
3. 3 [Option ID = 67]
4. 4 [Option ID = 68]

18) To cater to the specific needs of child with visual disability, the teacher should
(1) focus on a variety of visual presentations
(2) use a variety of tactile manipulative and materials

(3) show az lot of silent films
(4) give a lot of structured worksheets with pictures

u fE=mdft o gfeantamr g, i @t szt & oo v foverss =

(1) By a7z ¥ 3foTs weagdeao 0% e AT TR

(2) FE T T T e SEA I AT BT STAR FAT AT
(3) g T 3% T Tt =fe

(4) TE A Tl Ao et e &7 S =R

[Question ID = 18][Question Description = CTET_P1_PART_1_CDP_SET_124_Q18]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19) Difficulties in social interaction and verbal communication is a typical characteristics of

(1) Autism

(2) Attention Deficit Hyperactivity Disorder
(3) Dyslexia

(4) Dyscalculia



AT A AT ST " Guar § FEE1 e At afdersor g 2

(1) =TT

(2) FFET LAt St tmarsiaar @we
(3) TFAAFA

(4) TorSTF

[Question ID = 19][Question Description = CTET_P1_PART_1_CDP_SET_124_Q19]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]

20) The teacher gives clays of different colours to the children and asks them to make whatever

comes to their mind from that clay. Through this, she wants to promote in children.
(1) Creativity
(2) Rote memarisation
(3) Non-cooperation
(4) Indiscipline
forers ===t =1 At 0 At =T g 67 Fgdr g & 59 99 F S A
S AT AN | TAF AN, AZ A=A H ____ FHARMAT AT ATgaAl g |
(1) T
(2) T&AT

(3) AT
(4) FLTTET AT

[Question ID = 20][Question Description = CTET_P1_PART_1_CDP_SET_124_Q20]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]
21) The early primary years of childhood should focus on the development of
(i) physical skills
(i) social skills
(i) cognitive capabilities
(iv) emotional skills
(v) abstract reasoning

(1) (0 (i)

(2) (i) (i)

(3) (3) (i) (iii) (ivr)
(4) (i) (i (i) (iv) (v)



FFIT % T ATl | (e A 9T &I FHiegd Hiear 91g0 ?
(i) AT Frerew
(i) TS Hrere
(iii) HSATATHF AHAT
(iv) FHAITHF FI9TAT
(v) & T%
(1) (1) ()
(2) (i) (1)
(3) (1) (i) (iit) (iv)
(4) (i) (i) (i) (iv) (v)
1[.Q1u<[ecs)[t)itci)or:] |I|; =821; J[Question Description = CTET_P1_PART_1_CDP_SET_124_Q21]
2. 2 [Option ID = 82]

3. 3 [Option ID = 83]
4. 4 [Option ID = 84]

22) In a constructivist classroom, meaningful learning

(1) refers to the storage and retrieval of information.
(2) is the process of discovery through exploration and interaction.
(3) occurs through the use of rewards and punishment.

(4) takes place through repeated practice and drill.

THATATAT F4T H, 0T Hiar

(1) STTTT % WET0 3 YIATSH 7 a1 2 |

(2) A=TOT o - THIT F ZT =re & IiEaAT g |

(3) ZATH 7 HSAT F AN H ZEAT1 2 |

(4) ATEATT AT TAT ALATH T AT 2 |
[Question ID = 22][Question Description = CTET_P1_PART_1_CDP_SET_124_Q22]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]

3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

23) A teacher begins to works together, by giving cues and prompts, with a student who is unable
to understand a concept. This process is referred fo as
(1
(2
(3
(4

scaffolding
teacher-centered pedagogy

maintainance rehearsal

L e -

direct instruction



e TOrfErET v F==, ST UF JAGT F A9AT § 999y g, F A9y Heww
FAT § I TATE T g | Tg THaAT FAT Fgearl § ?

(1) 91
(2) Forer=-arfesa e

(3) AT AT
(4) s=mer AT

[Question ID = 23][Question Description = CTET_P1_PART_1_CDP_SET_124_Q23]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]
3. 3 [Option ID = 91]
4. 4 [Option ID = 92]

24) Assertion (A) :
A teacher tries to include examples from the immediate environment of children to make the
classes interactive.
Reason (R) :
Socio-cultural context plays an important role in learning.
Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.

FrIFTT (A)
UF TATEEFT F9T FT GG=THF 919 F [0 g=31 F A999 5 99597 J
FRELUT ATIH FTAdl g |
7% (R) :
AT H-A T o A2H il Tiae § Fgea ol Gaar g |
el fAaFeT 7 |
(1) (A) &7 (R) =11 |2 € A7 (R), (A) T HeT =TT Fa7 2 |
(2) (A) AT (R) =TT AT € i (R), (A) T 51 =141 751 2 |
(3) (A) 5ET & AT (R) T 2 |
(4) (A) &% (R) =TT TATZ |
[Qut[estion ID = 2;1][Question Description = CTET_P1_PART_1_CDP_SET_124_Q24]
2. 2 [Option ID = 94]

3. 3 [Option ID = 95]
4. 4 [Option ID = 96]



25) What will pose as a hindrance to a child in solving a problem ?

(1) Identifying the problem correctly
(2) Defining the problem clearly
(3) Thinking of similar problems that one has solved

(4) Remaining fixed at using objects in a conventional manner

=T § 7 =797 == F 99T THITE § 79T 30T F4T ?

(1) FHEIT FT HET | UgA AT

(2) FHEIT T FTCAT | Of 9T FTAr

(3) 7= e e AT -oeret ArEeet F AT F Fr=An

(4) =TT F TEATA F ATLFAT0 q206 T2 (8w 7T
[Question ID = 25][Question Description = CTET_P1_PART_1_CDP_SET_124_Q25]
1. 1 [Option ID = 97]
2. 2 [Option ID = 98]

3. 3 [Option ID = 99]
4. 4 [Option ID = 100]

26) Assertion (A) .
Mistakes and errors made by the students are indicative of the failure of the teachers and the
students.
Reason (R) :
Children do not have the ability to think on their own and need to be constantly instructed to
ensure learning.
Choose the correct option.

(1) Both {A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

HTHFIT (A) :

=it g #7 7E wertaat 7 Aot vt 7 FentE ft a@werar F# 3amE
gl

T (R) :

F=a1 9 G H AT 1 7T 7gl a1 a47 A5 qiae i gifaa 79 & o
g A Mo I AET 2 |

el fawed 9 |

(1) (A) ST (R) T AT ST (R), (A) T qgT 22T FTGT L |

(2) (A) AT (R) T &Y § 0 (R), (A) H7 70 =TT 721 2 |

(3) (A) T g wrfhe (R) 114 € |

(4) (A) & (R) ST 0T 2 |



[Question ID = 26][Question Description = CTET_P1_PART_1_CDP_SET_124_Q26]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]
27) Which of the following is notan emotion ?
(1) Memory
(2) Anger
(3) Love
(4) Fear

frfRrr & & Fim-ar a7 7@ e 2
()=

(2) Bre

(3) =

(4) w7
[Question ID = 27][Question Description = CTET_P1_PART_1_CDP_SET_124_Q27]
. 1 [Option ID = 105]
. 2 [Option ID = 106]

1
2
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28) What strategies can a teacher use to increase intrinsic motivation in her primary grade
students ?

(1) Praise each and every effort made by every student
(2

)

) Punish undesirable behaviour

(3) Promote competition amongst students
)

(4) Encourage children to experience joy of learning

srerteen farternT s FE=feaT F siates atewswon v @y 29 F o = 57
qHAT 2 ?

(1) 2% TE=mi = 2% UF 5478 T 9067 Fh

(2) AATSATT SEEIE FT S F0h

(3) FE=nf¥= & yia=Tet =1 9=7E7 3597

(4) F==T FT HE= § = T A7 F1 Teangg F00
[Question ID = 28][Question Description = CTET_P1_PART_1_CDP_SET_124_Q28]
. 1 [Option ID = 109]

. 2 [Option ID = 110]

1
2
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]



29) Overall physical and mental well-being of the child learning.

(1) does not affect
(2) hinders

(3) is not related to
(4) facilitates

F=9 T A ATN0H F A THF FATET FTEH |
(1) =1 FETEAT T FLAT

(2) HATAT ETAAT B

(3) 7 TETaT 7&l ¢

(4) =1 FETIET F2aT g

[Question ID = 29][Question Description = CTET_P1_PART_1_CDP_SET_124_Q29]
1. 1 [Option ID = 113]
2. 2 [Option ID = 114]
3. 3 [Option ID = 115]
4. 4 [Option ID = 116]

30) Rubhi believes that she did not study properly which is why she did not get good marks in her
science test though she can do science quite well. She is atiributing her performance to

(1) environmental factors
(2) lack of ability
(3) lack of effort
(4) tough luck

=20 H qAAT g % 9Ae A 7 uEre Tgn A o4 s o 3w fwe i
THAT § q= =T qE A0 FatH Ag B F agd d=un q=9iT FT awdql g |
TRl AU TZT HT AT 00 FF T HC gl g 2

(1) T TE T FeF

(2) FTTAT T FHT

(3) FfSrer #Fr FHHT

(4) T wrT
[Question ID = 30][Question Description = CTET_P1_PART_1_CDP_SET_124_Q30]
1. 1 [Option ID = 117]
2. 2 [Option ID = 118]

3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- MATH_Q31-45_P1_S1_CTET



1) The difference between the greatest four-digit number and the smallest four-digit number,
when divided by 15, leaves the remainder :

HTT ST T T TET HET TAT I H AT T G AT F AT T TT 15 9
qTT T237 S0, 7 9Tl g

(1) 11
(2) 12
(3)13
(4) 14
[Question ID = 31][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q31]
1. 1 [Option ID = 121]
2. 2 [Option ID = 122]

3. 3 [Option ID = 123]
4. 4 [Option ID = 124]

2) (11 ones + 10 tens + 12 hundreds — one thousand) is equal to
(1)310
(2)311
(3)312
(4)313

(11 ZFT=aT + 10 FTZI2AT + 12 T — U FAR) TEL 2

(1) 310

(2) 311

(3) 312

(4) 313
[Question ID = 32][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q32]
1. 1 [Option ID = 125]
2. 2 [Option ID = 126]

3. 3 [Option ID = 127]
4. 4 [Option ID = 128]

3) The difference between the Smallest Common Multiple and the Highest Common Factor of 15,
20and25is



15, 20 T4T 25 F TaH Gle A4 OTH AT TALT T AT OAEE FT AqTE

(1) 115
(2) 140
(3) 275
(4) 295

[Question ID = 33][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q33]
1. 1 [Option ID = 129]
2. 2 [Option ID = 130]
3. 3 [Option ID = 131]
4. 4 [Option ID = 132]

4) What should be added to the product 201 x 105to get 21171 ?

UEE 201 x 105 H =47 |rT 51, e 21171 9rea 212

(1)65
(2)66
(3)67
(4)68

[Question ID = 34][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q34]
1. 1 [Option ID = 133]
2. 2 [Option ID = 134]
3. 3 [Option ID = 135]
4. 4 [Option ID = 136]

5) In a school, there are 1260 students, out of which two-third are boys and the rest are girls.
Three-fourth of the number of boys are players and half of the number of girls are also players.
The number of students who are not players in the school
is

(1) 380

(2)400

(3)420

(4)450



T FEme 7, 1260 Bt 2, ©@E T =-Agre a5+ ¢ & a7 et 2 |
ASHL T TEAT T A A-ATATE GATRT ¢ AT A1 1 Jear % et o et 2
| e | FEentt 1 e, o T agi g, F e

(1) 380
(2) 400
(3) 420
(4) 450
[Question ID = 35][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q35]
1. 1 [Option ID = 137]
2. 2 [Option ID = 138]

3. 3 [Option ID = 139]
4. 4 [Option ID = 140]

3 .9
) How many z are there in T ?

(13
(2)6
(3)°
(4)12

(4)12

[Question ID = 36][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q36]
1. 1 [Option ID = 141]
2. 2 [Option ID = 142]
3. 3 [Option ID = 143]
4. 4 [Option ID = 144]

7) Neena bought 3 kg 850 g onions and 1 kg 800 g tomatoes from a vegetable shop. By what
amount does the weight of onions exceed the weight of tomatoes ?
(1)1kg150g
(2)2kg650g
(3)2kg 1504g
(4)1kg 850g



FTAT 7 U el A gFF H, 3 kg 650 g TATS #iT 1 kg 800 g FHIET FEIR |
TATST T ATE ZHIEL % A A Fhar gfes g 2

(1)1 kg 150 g
(2) 2 kg 650 g
(3)2 kg 150 g
(4)1 kg 850 g

[Question ID = 37][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q37]
1. 1 [Option ID = 145]
2. 2 [Option ID = 146]
3. 3 [Option ID = 147]
4. 4 [Option ID = 148]

8) On a map, half centimetre shows 225 km an the ground. If two cities are 1800 km apart on the
ground, then the distance between them on the map is :

(1)3 em
()

(3)6 cm
(4) 8 cm

4 em

T A= T AT HErdiey, O 97 225 km F7 390007 3 | T2 219790 o9
T G 97 4T 1800 km g, T A= T2 I A4 HT T 3 -

(1) 3 cm

(2)4 cm

(3)6 cm

(4) 8 cm

[Question ID = 38][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q38]
1. 1 [Option ID = 149]
2. 2 [Option ID = 150]

3. 3 [Option ID = 151]
4. 4 [Option ID = 152]

) The number of minutes in ?% days is equal to the number of seconds in
(1) 3 hours
(2)'3% hours
(3) 4 hours

4,1
()42 hours



1 s - » - - s - . -, -
7 &A1 § At i wey e Jehet i 8% F aeee g
(1) 3 5

1 =
(2) 3 =
(3)4 =z
1 =
(4) 4
[Question ID = 39][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q39]
1. 1 [Option ID = 153]
2. 2 [Option ID = 154]

3. 3 [Option ID = 155]
4. 4 [Option ID = 156]

10) The number of cubes of side 30 cm which can be fitted in a cubical box with measurements 7-2
mx 54mx 18 mis:
(1) 2592
(2) 2594
(3) 2596
(4) 2598

30 cm ST JTA FA7 T FHEAT, ST UF FATATRT T, ot 79 72 m o«

54m x 1-8mg, H™E AT AFd g, M= 2 :

(1) 2592

(2) 2594

(3) 2596

(4) 2598

[Question ID = 40][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q40]
1. 1 [Option ID = 157]
2. 2 [Option ID = 158]
3. 3 [Option ID = 159]
4. 4 [Option ID = 160]

11) The total number of right angles in the English letters 'H and 'E’ is
(1)5
(2)6
(3)7
(4)8



S o AL H T E H® AHE00 e 9T g
(1)5
(2)6
(3)7
(4)8
[Question ID = 41][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q41]
. 1 [Option ID = 161]
. 2 [Option ID = 162]

1
2
3. 3 [Option ID = 163]
4. 4 [Option ID = 164]

12) The perimeter of a square is 120 cm. The length of a rectangle is two times the side of the
square. The perimeter of the rectangle is 156 cm. What is the difference between the areas of
the rectangle and the square ?

(1)90 cm’

(2) 145 cm’
(3) 150 cm’
(4) 180 em”

T AR AT TEATT 120 em g | BT e i dare 7 A Ay ge i T
AT T TEATT 156 cmqlwﬁTaﬁ%WﬁWw%?

(1)90 cm”

(2) 145 cm”
(3) 150 cm”
(4) 180 cm”

[Question ID = 42][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q42]
1. 1 [Option ID = 165]
2. 2 [Option ID = 166]
3. 3 [Option ID = 167]
4. 4 [Option ID = 168]

13) The marks obtained by 25 students in a test are given below :
54,68,42,71,56,62, 71,78, 51, 72, 53, 44, 58, 47, 64, 41, 57, 89, 53, 84, 57, 45, 48, 52, 62
How many students obtained marks between 55 and 75 ?

(1)10
(2)11
(3)12
(4)13



et 2w &, 25 Pt g ureas #= foan £

54,68, 42, 71, 56, 62, 71, 78, 51, 72, 53, 44, 58, 47, 64, 41, 57, 89, 53,
84, 57, 45, 48, 52, 62

e A= & ureis 55 T 75 F 7 5 2 2

(1)10
(2)11
(3)12
(4)13

[Question ID = 43][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q43]
1. 1 [Option ID = 169]
2. 2 [Option ID = 170]
3. 3 [Option ID = 171]
4. 4 [Option ID = 172]

14) The following table shows the number of books sold by a shopkeeper in € days of a week :

Days Sunday | Monday Tuesday |Wednesday| Thursday Friday

Number of 65 40 30 50 20 70
books sold

What is the difference between the total number of books sold by the shopkeeper on Sunday,
Monday and Thursday, and the total number of books sold on Friday and Wednesday ?

(1)5
(2)4
(3)3
(4)6
o= arforsT UF TR 51T 99ag % 6 3T § 397 I TSl A G #i
T 2

SATTE | 65 40 30 50 20 70
TEERT A
HET

A7 9[FATE TAT TEATE &0 a=31 T2 THAH1 il T &7 § 7 3§47 2 2

(1)3
(2)4
(3)3
(4)6

[Question ID = 44][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q44]



1 [Option ID = 173]
2 [Option ID = 174]
3 [Option ID = 175]
4 [Option ID = 176]

A W N -

15) Observe the pattern below :
2x1=2
3x2=86
5x3=15
7 x4 =28
11 x5 =255
13 x6 =178
17 x 7 = 119
19 x 8 = 152
- X G=
Identify the missing numbers respectively in the above pattern.
(1)21 and 188
(2)23 and 207
(3)25 and 225

(4) 29 and 261

T G2 T AAA T S
2x1=2

3x2=86

S5 x 3 =15

7 x4 =28

11 x5 =55

13 x 6 = 78

17 ~ 7 =119

19 = 8 = 152

. =@ =

ST Ted | o T 1 HEe: TgATA |

(1) 21 T 189

(2) 23 #T 207

(3) 25 v 225

(4) 29 &7 261
[Question ID = 45][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q45]
1. 1 [Option ID = 177]
2. 2 [Option ID = 178]

3. 3 [Option ID = 179]
4. 4 [Option ID = 180]

Topic:- MATH_Q46-60_P1_S1_CTET



1) For primary grade children an understanding of ‘approximation and estimation’ would lead to
the development of which of the following concepts ?
(a8 Transitivity
(b) Measurement
(c) Patterns

(d) Calculations
Choose the correct options :

(1) (a), (c) and (d)
(2) (a), (b) and (c)
(3) (b), (c) and (d)
(4)

a), (b) and (d)

3
4

— e e

TTATHF Goft % F==1 & o0 qierwe vd dqar it 79z FetatEag gaears
# | g deqar & e #F &7 of Srusy ?

(@) H&THAT

(b) =TT

(c) THAT

(d) wfeherat

gl fAFeT 1 577 ffe

(1) (a). (c) &= (d)
(2) (a). (b) &7 (c)
(3) (b). (c) =M= (d)
(4) (a). (b) &7 (d)

[Question ID = 46][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q46]
1. 1 [Option ID = 181]
2. 2 [Option ID = 182]
3. 3 [Option ID = 183]
4. 4 [Option ID = 184]

2) When asked to write five hundred sixty seven a child writes it as 50067. What could be the
most appropriate reason for this error ?
(1
(2
(3
(4

Child is not attentive in the class and is a careless listener.

Child is a careful listener but has not establised the concept of place value.
Child recognizes only two-digit numbers.

Teacher's inability to teach the concept of place value.

T o e o



& UF =4 W I A7 795 F1 forEd F O Fgr 14w, 99 399 39 50067
foraT | | A FT AT SUGFT HI0T FAT 27 TFaT ¢ 2

(1) FT=AT FET H &4TH 751 3 L@ g A TFH ATIEATg A1 2 |

(2) FT=AT UF T ATAT ¢ e TATHIT HIT 6 AALTIOT AT TG Al H2 04T
gl

(3) F=AT FAT IT-HAHIT HEATT TZAAT 3 |

(4) TATHT AT T AT T2 F Forersh v qArhrH |

[Question ID = 47][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q47]

. 1 [Option ID = 185]

. 2 [Option ID = 186]

1
2
3. 3 [Option ID = 187]
4. 4 [Option ID = 188]

3) Which of the following is an example of cultural specific knowledge that is displayed in early

mathematics learning by very young children ?
(1
(2
(3
(4

Number words used by the learners
Number operations

Spatial understanding

T o e S

Solving mathematical puzzels etc.

et | | F19-A71, Hepia =792 J9 F71 IIL0 2 S0 T T =97 %
it A3 | g mie =1 g yIiT A §rar g 2

(1) ATERTHFAT T TIF AT 953

(2) T "
(3) BFeaT "ot 791
(4) FrfoTetrar gEferat arfs ger ear

[Question ID = 48][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q48]
1. 1 [Option ID = 189]
2. 2 [Option ID = 190]
3. 3 [Option ID = 191]
4. 4 [Option ID = 192]

4) Which one of the following statements is true with respect to mathematics learning ?

(1) Boys are better at learning mathematics as compared to girls

(2) There must be separate classrooms for children with special needs as they cannot learn

with other children
(3) Everybody can learn mathematics

(4) Procedural fluency in mathematics will always lead to conceptual clarity



At § & F9-A71 FoAe T 5 AT F qe § q21 2 ?

(1) ETHAT T AT F T T(0TT A 1A F Sga~
(2) AT AFeTFATE AT T=AT F (0 AT FATY giAT AT 10 4 AT
F=A1 % qTF gl H1F 76 g
(3) weae = ST |1 Tar g
(4) T | ufaTeT TATg AT ATLTIOMHF TACEAT i AL o ST
[Question ID = 49][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q49]
1. 1 [Option ID = 193]
2. 2 [Option ID = 194]

3. 3 [Option ID = 195]
4. 4 [Option ID = 196]

5) National Curriculum Framework, 2005 argues for a mathematics curriculum which is
"ambitious”. Which among the following is/are most appropriate to represent this vision ?
(a) Curriculum needs to develop students’ capabilities in numeracy.
(b) Curriculum needs to develop students’ inner resources to think and reason
mathematically.
(c) Curriculum needs to develop students’ ability in solving mathematical puzzles.
Choose the correct option :

(1) (a) and (c)
(2) Only (b)

(3) (b) and (c)
(4) (a) and (b)

T ITEEAT 9T, 2005, T f 9rS=At f "l g o o

T e FOAT 2 | TH 02 & 3909 & (o0 Weararad § § FE-a7/F q9ias

I e ?

(@) TTEIEAT & HEAT-AE § FEntaar £ auarst w71 FE 5w
HA9TF 2 |

(b) uTEI=AT & AT SaT va Fa=w F o Gt F gt
HHETEAT FT 319 FTAT AF99F 2 |

(c) WTEI=HT HT AOATT T AT HT 27 FoA H HATAAT T STHAT &7
AT AT ATTF E |

el A% 1 537 e

(1) (a) ¥ (c)
(2) ¥ (b)

(3) (b) ¥ (c)
(4) (a) ¥ (b)




[Question ID = 50][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q50]
1 [Option ID = 197]
2 [Option ID = 198]
. 3 [Option ID = 199]
4 [Option ID = 200]

A W N -

6) According to National Curriculum Framework 2005, primary stage mathematics curriculum
should least focus on
(1) development of relevant mathematical vocabulary
()

(3) identification of patterns

(4) use of standard algorithms to solve problems

development of spatial understanding

TTSET IT5T=GT 94ET 2005 F JATE, TTATHE T97 % 009 G5TwH &
T oA FH Fifwd gMT1 J120 |

(1) FTETT AT T 9TsaTE T & AT

(2) BAFraT "5adt a9zt F @A

(3) wfaaT=i/Ffa=aT Hit Tg=TT

(4) FHETAT T ZA 2 = (o117 AT FeAq-[a 841 & ITIET
[Question ID = 51][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q51]
1. 1 [Option ID = 201]
2. 2 [Option ID = 202]

3. 3 [Option ID = 203]
4. 4 [Option ID = 204]

7) Which of the following is notan objective of formative assessment ?

(1) To know about child's misconceptions
(2) To assess the child's understanding in construction of knowledge
(3) To introduce a new concept based on the previous concept

(4) To know if & teaching strategy is appropriate or not

ReAferfes 9 7 F19-97 THATEF ATFad #3297 T@i g 2
(1) &= T Fitagt F a7 § A7

(2) 57 & =T § a== 7 99T F AT

(3) el FAFATIOT U7 AT T ATLTEOT T Teqd FedqT
(4) 7g Srerr 5 fereror g/ f=ter gugera g ar 78t

[Question ID = 52][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q52]
1. 1 [Option ID = 205]
2. 2 [Option ID = 206]
3. 3 [Option ID = 207]
4. 4 [Option ID = 208]



8) A primary teacher is focusing on the development of mathematical reasoning skills in her
students.
Which of the following tasks may help her in the most appropriate manner ?
(1) Using mathematical games and puzzles in her class
(2) Giving a lot of questions, based on a given formula, to practice
(3) Conducting regular class tests
(4) Solving textbook questions on the blackboard

AT FEAT i U ferterET srue FEnten § aiver T/ EaeT e &
A oz e FEa s e |
feaforfed § & F19-8 F14 ! T80 SULFT a9 1% o TgIaar F T g 2

(1) ST FeAT F IO FTETAT AT TIOAT T FAHTT FeAT
(2) ererrer % o, 3 T v T O st g A 9eT J4
(3) FRrf=a =ear TTeatatl 71 A F:AT

(4) STTATE U TTSIE & TAT T T FHLAT

[Question ID = 53][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q53]

1. 1 [Option ID = 209]

2. 2 [Option ID = 210]

3. 3 [Option ID = 211]

4. 4 [Option ID = 212]

9) Which of the following represents the recommendations of National Education Policy (NEP)

2020, for curriculum and pedagogy in schoal ?

(a) Learning should be holistic and integrated
(b) Restructuring school curriculum and pedagogy in a new 5+3+3+4 design
(c) Restructuring school curriculum and pedagogy in a new 5+2+3+3 design
(d) Foundational stage should include learning from formal textbooks

Choose the correct option :

(1)(a) and (c)
(2) (a) and (b)
(3) (b) and (d)
(4) (c) and (d)



FeAforfad § | F-A1 S0l 5 ISa=EaT T 0rrenes & o et forar A
(NEP) 2020 T J&aTa=Tal T fH=a0 FqT1 g ?

(a) arfeeTe mwr s T ST SR

(b) 5+3+3+4 F AU fEwreA H et UEAHH AT oottt #r

(c) 5+2+3+3 F 71 fEwes ¥ e Trzmwy @ formeme &

TS FEAT
(d) TSS9 T | A= TTSTLETH F ATERTH FAEA AT 2T
Hal faseT 7 =37 e

(1) (a) &% (c)

(2) (a) ¥ (b)

(3) (b) 3% (d)

(4) (c) 97 (d)
[Question ID = 54][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q54]
1. 1 [Option ID = 213]
2. 2 [Option ID = 214]

3. 3 [Option ID = 215]
4. 4 [Option ID = 216]

10) A teacher uses manipulatives such as blocks, marbles, etc. for developing the concept of
multiplication. Use of such mainpulatives :

(1) creates confusion among learners
(2) hinders the understanding of the formal algorithms
(3) provides leisure time to young children
(4) helps in conceptual learning

T fOrE gEARIe AT w9 6 siE, A1Ee, TETs & S9AnT U A
FAIEOT T fAwiaT Fen F O F2ar g | 37 I A geashree arEiy w

(1) foreni=ant | gEVATETH FoAw HLAT §

(2) =TI e -t a1 HHAT § AT ST g

(3) 1= F==1 T ATeAT THT 39T g

(4) ATHTIOHT ATERTH F TETIF 271 8

[Question ID = 55][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q55]
1. 1 [Option ID = 217]
2. 2 [Option ID = 218]

3. 3 [Option ID = 219]
4. 4 [Option ID = 220]



11) Which of the following is used to analyze the misconceptions and learning difficulties of
children in a particular concept ?

(1) Norm-Referenced test
(2) Criterion-referenced test
3) Diagnostic test

)

(
(4) Remedial teaching

fAeaferfaa § & fFee guanT a==t § BT @ s & giy giaa ud
ATEATH F &1 72 Foareai & fAeawm & form Far srar g 2

(1) FEFH-HETET LT

(2) ATETE-HEI T TEET

(8) A=Ti= 7T

(4) ITATLT Tareqmr

[Question ID = 56][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q56]
1. 1 [Option ID = 221]
2. 2 [Option ID = 222]
3. 3 [Option ID = 223]
4. 4 [Option ID = 224]

12) On the basis of the information given in the statement, which of the following teaching strategy
gives firsi-hand experience to the learner to construct mathematical knowledge ?
Statement : A teacher wants to teach the concept that sum of the angles in a quadrilateral is
360°.
Teaching strategies :
I.  Teacher draws a quadrilateral on blackboard and measures its angles using
protractor and shows that sum of the angles is equal to 360°.
Il. Teacher draws a quadrilateral on a piece of paper and draws its diagonal to
divide it in to two triangles. He uses angle sum property of triangles to show that
sum of the angles of a quadrilateral is 360°.
lll. Teacher asks students to construct various types of quadrilaterals on a piece of
paper and measure their interior angles and find out the sum of the angles in

each type of quadrilateral.
Choose the correct option :
(1) Only |
(2) Only Nl
(3)land Il
(4) Il and 111



FAT T I T THAFET F g 97, FEiotad F F wi-Ar g3 T o

FATERTT ToreTit =1 IO S 7 THHT0T 9 T FeaeT a9 T2 Fiedi g 2

TG : TF (% T ATGTEOT F TR AgAT g 5 TS F FO0 FT A

360° % |

foreror fAfert

| s eqmeTE 9T UF SgUS a9rar @ ST 39E S0 H1 J1ET F1T
ST FTeh ATOAT § A REmar g 7 Foit 1 Trrdher 360° % A=
2|

Il. forer® TS F UF gHhe T2 UH Agas d=d1 g &ie e 301 06
At di=war g arfr Jqds #1 31 Brget § Farfem o aw ag
RSt F F007 T O0EH FT ITART F2 (3a1a1 g o6 TS F Hrot
T AWTHA 360° & |

1. forers @r=it 7 FrT % v ghs 77 ATe ww F T q9s a9 F
T FHI0 T TRT @ & (o Fgar g |

el fAFeT F1 =97 fiST ;

(1) 5= |
(2) = 1l
(3) 1 &Il
(@) Il 3= 1

[Question ID = 57][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q57]
1. 1 [Option ID = 225]
2. 2 [Option ID = 226]
3. 3 [Option ID = 227]
4. 4 [Option ID = 228]

13) According to National Curriculum Framework, 2005, which of the following is nof true for

including mathematics used in various cultures by street vendors and common people in a
primary grade mathematics curriculum ?

(1) There is no linkage between formal mathematics and the one used by street vendors and
common people.

(2) There are immensely rich mathematical activities performed by common people which can
be included in classroom discussions.

(3) Inclusion of diverse mathematical practices of various cultures can be utilized to make
mathematics learning interesting and relevant.

(4) Children from diverse cultural backgrounds can bring different ways of dealing with
numbers, calculations and counting in classroom discussions.



TS T =AT ®=92aT, 2005 F aqare, AEy et § 7240 Frarer o
AT AW BTET ST T ST ATer 707 &7 GTSHAT FHET % 079 Taa=a1 &
orTierer T3 STTe g fReatortas 3 & F19-A7 97 77 gl e ?

(1) sirg=TiE T ST 724t ATl T4 9| A 5T WA 5 S AT
T H FlE T A2 ¢ |
FACT F=7 | anfaer Fm s awar g
(3) FAfars d==fa=i 9 g T =AEET T 9OTHe FIAr Tior % AT
T =TT 3T ATHRE a9 & oy e ST aFar g |
(4) Bfae T=ogf® & 9 =7 "@@re, e @i 9REaq F {fae= =t &
FATAT AT H ATIHA H7 T 3 |
[Question ID = 58][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q58]
1. 1 [Option ID = 229]
2. 2 [Option ID = 230]

3. 3 [Option ID = 231]
4. 4 [Option ID = 232]

14) A commeon error that @ mathematics teacher often encounters when children are asked to add
two fractions is; Adding the numerator with the numerator and denominator with the
denominator. What could be the most probable reason for such error ?

(1) Lack of written practice
(2) Lack of attention in the class
(3) Prior understanding of children related to addition of natural numbers

(4) Non-availability of teaching-learning material

ST A=A AT AT T AT SEA & o FFT S g, T4 U Areer g S A
T T90eTe S 97T, 9 T § 1% == 9T T 9T F A1 A< g¥ AT g€ & a1
STTEd g | UHT 3[{e 7 "aa HA1iaa 07 =47 g1 THaT g ?

(1) Ferfoare s =1 s

(2) F4T F TAHAT HT AT

(3) ITETA AETA F TRT T AT T=A1 40 TT THA
(4) fererr-srfeTe | T dgTersEar

[Question ID = 59][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q59]
1. 1 [Option ID = 233]
2. 2 [Option ID = 234]
3. 3 [Option ID = 235]
4. 4 [Option ID = 236]



15) Which of the following assessment techniques will help to reduce the fear and anxiety in
mathematics among learners ?
(8) Project
(b)  Cooperative learning tasks
(c) Paper-pencil test
(d) Summative assessment
Choose the correct option :

Aot § & Aed #r Fa-o1 &S aftrewaret @ avm § 97 67
=T 7 F7 F70 § Fradar H00 ?

(@) TferTeTaT

(b) FEAW ATERTH 1A

(c) TITIfHe &ve

(d) AWMMH ATHAA

gl fAFeT 1 577 ffe

(1) (b) #T (c)

(2) (a) 7 (d)

(3) (b) &= (d)

(4) (a) @7 (b)
[Question ID = 60][Question Description = CTET_P1_PART_2_MATHS_SET_124_Q60]
1. 1 [Option ID = 237]
2. 2 [Option ID = 238]

3. 3 [Option ID = 239]
4. 4 [Option ID = 240]

Topic:- EVS_Q61-75_P1_S1_CTET

1) Which of the following statement of a teacher reflects 'Gender Bias’ ?

(1) *‘Students ! All of you have done well !”
(2) "'Boys ! you always make noise !”
(3) “Boys and girls, lets all play a game.”

(4) “'Students, | am not happy with your performance.”



eaforfaa § & BT sems =1 F-a7 T T @i w1 9599 F2ar g ?

(1) T | g et 7 g e T E 1

(2) “eTEHT | T THAT 97T =7 27 1"

(3) ‘=T ¥ ATHAT, TAT ZH T UF T G |7

(4) "t & geat et & gar i E
[Question ID = 61][Question Description = CTET_P1_PART_3_EVS_SET_124_Q61]
1 [Option ID = 241]
2 [Option ID = 242]

3 [Option ID = 243]
4 [Option ID = 244]

A wN =

2) Which material is used for making solar cell ?
(1) Lead
(2) Sodium
(3) Copper
(4) Silicon

AT Hor % e 3 e =T T 3T T S g 2

e

(2) FfETs
(3) FiaT

(4) Bferst

[Question ID = 62][Question Description = CTET_P1_PART_3_EVS_SET_124_Q62]
1 [Option ID = 245]
2 [Option ID = 246]
. 3 [Option ID = 247]
. 4 [Option ID = 248]

A W N -

3) Which of the following statement reflects '‘Gender stereotyping’ ?

(1) Generally girls are better cooks than boys.
(2) Asians are not good in sports.
(3) Generally girls have less muscle mass compared to boys.

(4) Boys and girls took part in wrestling.

et § & F19-ar waw T =Ragar 71 9397 F7ar g ?

(1) AT T AT TEHT 7 Sga” T a=rai 2 |

(2) Uf9raTs AT T § 9= Ael ard g |

(3) ATHTA: AEH1 il AT H AEHAT F1 T901 5279 FH A1 2 |
(4) et T wetHar o Fodt 7 Fear o |

[Question ID = 63][Question Description = CTET_P1_PART_3_EVS_SET_124_Q63]
1. 1 [Option ID = 249]




2. 2 [Option ID = 250]
3. 3 [Option ID = 251]
4. 4 [Option ID = 252]

4) The male bird makes many beautiful woven nests and the female bird chooses, the best one to
lay her eggs. The bird is
(1) Weaver bird
(2) Dove
(3) Tailor bird
(4) Sunbird

T HTEAT aga A1 {3 gATEe a1er Hidel FAa0 g AT A7raT =iedn 298 9 7999
FIEAT ST d97 d¢ 39 F o aar 2 | 98w SfEa e 2

(1) == (gemmer FfEm)
(2) wrEdT

R EERREIER

(4) srFzETT

[Question ID = 64][Question Description = CTET_P1_PART_3_EVS_SET_124_Q64]
1 [Option ID = 253]
2 [Option ID = 254]
. 3 [Option ID = 255]
4 [Option ID = 256]

A W N -

5) Which of the following insects live in a group and have specific role allocation ?

(1) Honeybees, Ants, Spiders

(2) Wasps, Termites, Ants

(3) Ants, Mosquitoes, Spiders

(4) Honeybees, Housefly, Termites

feaforfad § & #19-7 fite 79 § w5d ¢ @ 39 a4 At fAfore gfimd a8 g2
g ?
(1) FgHE=FET, AT, Hhel
(2) T3, T =, Al et
(3) Hifeat, 7=g7, HFal
(4) TEHFET, o T S AT Ty, S
[Question ID = 65][Question Description = CTET_P1_PART_3_EVS_SET_124_Q65]
1. 1 [Option ID = 257]
2. 2 [Option ID = 258]

3. 3 [Option ID = 259]
4. 4 [Option ID = 260]



6) ldentify the flowers.
A - bloom only at night
B - used for making medicines
C - used for making dyes
D - bloom all the year round
A, B, C and D respectively are

(1
(2
(3
4

Hibiscus, Marigold, Rose, Datura
Night gueen, Hibiscus, Marigold, Rose

Jasmine, Rose, Datura, Chrysanthemum

" o e e

Vinca, Datura, Rose, Chrysanthemum

Tl T T AT |

A - FAA T F T Eaar g

B - Stafer a97+ F FTH § A7 141 g
C - ¥ITE & F1H § @TAT S14T 2

D -9 a4 97 faear g

A B, CHTDFAM: 2

(1) TE=H, =T, TATE, HTT

(2) 7T FT T, TEEA, =T, [T
(3) =FHAT, T[T, AT, TA=TGHST
(4) FRTEETE, S, AT, TATGT

[Question ID = 66][Question Description = CTET_P1_PART_3_EVS_SET_124_Q66]
1. 1 [Option ID = 261]
2. 2 [Option ID = 262]
3. 3 [Option ID = 263]
4. 4 [Option ID = 264]

7) Which of the following statements is nof correct in the context of honeybees in a beehive ?

(1) Only queen bee lays eggs.
(2) Worker bees are male bees.
(3) There are only few male bees in a hive.

(4) There is anly one queen bee in a hive.

FLHFEAT F g § AYATFIAT % 712 | [Feorad § 7 F9-97 99 951 7gl o
?

(1) FFeT T HFET &F &€ IA1 ¢ |

(2) ATH HFAT (FTH e ATAT) T2 HFET Al 2 |

(3) T F T &Y 77 AiFEaf grdr g |

(4) T H T U & T T g 2 |



[Question ID = 67][Question Description = CTET_P1_PART_3_EVS_SET_124_Q67]
1 [Option ID = 265]
2 [Option ID = 266]
3 [Option ID = 267]
4 [Option ID = 268]

A W N -

8) Which of the following set is of fruits ?
(1) Potato, Brinjal, Mango
(2) Banana, Brinjal, Radish
(3) Tomato, Banana, Ginger
(4) Banana, Ladyfinger (okra), Potato

fefofEa g9 FF-aT aqg T F7 8 ?
(1) &ATeg, AT, AT
(2) F, AT, AT
(3) ZHET, AT, A=TF
(4) 7, T4, Ay
[Question ID = 68][Question Description = CTET_P1_PART_3_EVS_SET_124_Q68]
1 [Option ID = 269]
2 [Option ID = 270]

3 [Option ID = 271]
. 4 [Option ID = 272]

A wWw N =

9) Which of the statements is nof correct regarding stepwells found in many parts of India ?

(1) They are traditional systems of water conservation.
(2) The water in stepwells cannot be used for drinking.
(3) They are based on principle of rainwater harvesting and recharging.

(4) They are used as community resource.

AT & AT el H G M5 A1 % Jae F BI-97 F47 T2 Aghe ?

(1) I STer HTAUT T TTLFTE HAFATZ |

(2) ITATEAT F1 T 9 = o0 U § 71 @0 S HEAr g |
(3) I AT AUZW T T AT F g I% Aremiea g |
(4) TTHT START ATHRTRF HH1EE F 57 F FaramEn g |

[Question ID = 69][Question Description = CTET_P1_PART_3_EVS_SET_124_Q69]
1 [Option ID = 273]
2 [Option ID = 274]
. 3 [Option ID = 275]
4 [Option ID = 276]

A W N -



10) A train travelling from Ahmedabad in Trivandrum crosses many tunnels. These tunnels are in
the hills of

(1) Eastern Ghats
(2) Western Ghats
(3) Himalayas
(4) Aravalli

TE YOSl WEHETaTE & Greww i @7 9 g T G T qeedr g0 T g
Py TRTTET 5 2 2

(1) AT ==
(2) et ==

(3) FRwTer
(4) FTTEAT

[Question ID = 70][Question Description = CTET_P1_PART_3_EVS_SET_124_Q70]
1. 1 [Option ID = 277]
2. 2 [Option ID = 278]
3. 3 [Option ID = 279]
4. 4 [Option ID = 280]

11) Which of the following statements is true regarding elephants ?

Assertion (A) : An elephant herd has only female elephants and baby elephants.
Reason (R) : Male elephants move around alone.

(1) Both A and R are true and R is the correct explanation for A

(2) Both A and R are true but R is not correct explanation for A
(3) A is correct but R is not correct

(4) Both A and R are not correct

fReAforfad § § F19-97 F99 g F I A qgrg ?

HTHFAT (A) - AT F T | e 7121 g1y e == grefi gra 2 |
T (R) -7 greft I721 AT #het g1 THA & |

(1) A 3T R 491 92T 2 @T R, A it oigr =ATAT g

(2) A 3T R FH1 981 g @t R, A T 981 =47&a1 781 §

(3) ATET € T R ARl 7l &

(4) A ST R =TT AL AR S

[Question ID = 71][Question Description = CTET_P1_PART_3_EVS_SET_124_Q71]
. 1 [Option ID = 281]
2 [Option ID = 282]
3 [Option ID = 283]
4 [Option ID = 284]

A W N -



12) The Haemoglobin level in the blood test reports of four class V children is given below :
Aman - 8 g/dl
Radhika - 10 g/dl
Surjeet - 14 g/dI
Maria - 6 g/dI
Which of these children are anaemic ?
(1) Aman and Maria
(2) Radhika and Surjeet
(3) Aman, Radhika and Surjeet
(4) Aman, Radhika and Maria

= FAT T % A T4 % G 50 A9 OE § 3% grHmaad e 7 are
TATAT AT 2

& - 8 g/d

TTErhT - 10 g/dl

TSI - 14 g/dI

AT - 6 g/dl

T8 | 3 s=a1 § TH-Aoqar (TATHAT) g 2

(1) ST AT FqIAT

(2) =riarERT & st

(3) AH, TITEERT AT ST
(4) =, IR S g

[Question ID = 72][Question Description = CTET_P1_PART_3_EVS_SET_124_Q72]

1. 1 [Option ID = 285]

2. 2 [Option ID = 286]

3. 3 [Option ID = 287]

4. 4 [Option ID = 288]

13) Which of the following statements regarding eyes in birds is/are true ?
S1: All birds have eyes on either side of their head.

S2: Birds cannot focus on two different things at a time.

(1) S1istrue and S2 is false
(2) 81 is false and S2 is true
(3) Both S1 and S2 are true

(4) Both S1 and S2 are false



i it atet & a1 § FafataT § 7 FE-97/9 F99 981 212 ?

S1: = =T F s @2 % <1 97% dtg Zer 2 |

S2: TafEat 31 9=-To= Feq&l 9% 7 2 997 97 312 Fiead 71 77
UTAT 3§ |

()S1HErg AT S2 T a g

(2)S1TTaa g AT S2 72T 8

(3)S1 4% S2 FHT WET 2

(4) S1 &% S2 FHT T &
[Question ID = 73][Question Description = CTET_P1_PART_3_EVS_SET_124_Q73]
1. 1 [Option ID = 289]
2. 2 [Option ID = 290]

3. 3 [Option ID = 291]
4. 4 [Option ID = 292]

14) Which of the following features of tigers do nef help them move in dark and find the prey 7

(1) Sensitive whiskers

(2) Movement of ears in different directions
(3) Loud roar

(4) Sharp sense of hearing

AT (Z1299) #T FEfEg ¥ 7 #1997 @frean 9= @5y F a6 agq &7
AT T Ared | #2E qgT Al 2§ ?
(1) FA=efrer o=
(2) Afg= fRemst 7 a1 #ir 7f7
(3) ST AT TOAAT
(4) T =T A1 ATATH
[Question ID = 74][Question Description = CTET_P1_PART_3_EVS_SET_124_Q74]
1. 1 [Option ID = 293]
2. 2 [Option ID = 294]

3. 3 [Option ID = 295]
4. 4 [Option ID = 296]



15) Match the following correctly :

National Park State in India
A. Jim Corbett i. Assam
B. Kaziranga ii. Uttarakhand
C. Ranthambore iii. Gujarat
D. Gir iv. Rajasthan
(1) A-iii, B-iv, C-i, D-ii
(2)A-ii,B-i, C-iv, D~iii
(3)A-iv,B-ii, C-i, D-iii
(4)A-i,B-iii, C-iv, D~ i
ferferfer =1 agt e e
T g1 T F 5T
A. 5 Fise i o
B. FTHAT ii. ITTEE
C. 7T i, IETeTd
D. fi® iv. TSI

(MA-m,B-iv,C-i,D-i

(2)A-u,B-i,C-iv,D-1i

(3)A-iv, B-1i,C-i1,D-1i

4)A-1,B-iui,C-iv,D-i
[Question ID = 75][Question Description = CTET_P1_PART_3_EVS_SET_124_Q75]
1 [Option ID = 297]
2 [Option ID = 298]

. 3 [Option ID = 299]
4 [Option ID = 300]

A W N -

Topic:- EVS_Q76-90_P1_S1_CTET

1) When an EVS teacher takes his/her students to a zoo, he/she intends to

(1) Sensitize students for animal protection
(2) Give exposure to students to make teaching enjoyable
(3) Correlate classroom learning to real-life situation

(4) Develop skills in students to domesticate animals



SH TATAL FLAAT & (9F AU T=H1 A (ASATIAT AT 0T g, 97 ag e
2T A qfF FIAT AT B ?
(1) F==T T TEAZ F G20 % G GAFaeiter Tar4T
(2) FT=AT FT HASTT TE0H 7 H1@ FT HAH7 377
(3) AT AT Sttaw Hf T eaagT ofiT F4T Femsig % #fi= e geaed ey
FTAT
(4) =T | TSAT AT TR H A9 FT AR AT FTAT
[Question ID = 76][Question Description = CTET_P1_PART_3_EVS_SET_124_Q76]
1. 1 [Option ID = 301]
2. 2 [Option ID = 302]

3. 3 [Option ID = 303]
4. 4 [Option ID = 304]

2) Ramesh frequently asks probing questions in his class V EVS class. The appropriate aim is not
at improving students’
(1) Demonstration skills
(2)
(3) Creative skills
(4) Listening skills

Observation skills

T AT FAT V AT TAEE0 TSR 0 FHAT | Frog0l Wed T9aT1 g | SUgF
e A= & e Free & HEre #7198l 2 2

(1) =97 Frora

(2) A=A T

(3) THATHT HI9TT

(4) =T FI9TA
[Question ID = 77][Question Description = CTET_P1_PART_3_EVS_SET_124_Q77]
1. 1 [Option ID = 305]
2. 2 [Option ID = 306]

3. 3 [Option ID = 307]
4. 4 [Option ID = 308]



3) In environmental studies, which of the following are characteristics of problem solving ?

A. Construction

B. Selection

C. Declamation

D. Writing

Choose the correct option -

(1)AandB
(2)CandD
(3)AandD
(4)Band D

i FeAae °, freferfed § § FI19-T THeT T 5 0 E 2
A. T

P

T

-

. W
(1)ATB
(2)C D
(3)AFTD
(4)B#* D

[Question ID = 78][Question Description = CTET_P1_PART_3_EVS_SET_124_Q78]
1. 1 [Option ID = 309]
2. 2 [Option ID = 310]
3. 3 [Option ID = 311]
4. 4 [Option ID = 312]

oo ®

4) Thelanguage that has to be used by an EVS teacher should be

(1) formal with emphasis on definition.
(2) difficult for children to comprehend.
(3) related to everyday language of the child.

(4) technical in nature.

e T AT, TOverE F T T g Are 1 T

(1) ST=T T TEATITA 9 a7 39 ATl Al AT |
(2) F==1 & o {5 gt AT aTie o FH 7 9 |
(3) F=AT H¥ IMF/ATFA AT T H HEAET ZiT AR |
(4) wmrETE wEia &7 Fer SR |

[Question ID = 79][Question Description = CTET_P1_PART_3_EVS_SET_124_Q79]



1 [Option ID = 313]
2 [Option ID = 314]
3 [Option ID = 315]
. 4 [Option ID = 316]

A W N -

5) Use of attractive and relevant instructional materials are helpful because they

(1) Activate all senses.
(2) Make learning more meaningful.
(3) Help teachers in teaching-learning process.

(4) Attract students’ attention.

AT T TR S ITeH AT 6T START T g FI10% o

(1) =T AT A AFT TS |

(2) SATERTH =T AT FATT0T FATT 2 |

(3) forer=nt = fareror-arfasTy afaar § agrgaT F74 2 |
(4) TE=ITPE=T T &4 AR Fd g |

[Question ID = 80][Question Description = CTET_P1_PART_3_EVS_SET_124_Q80]
1. 1 [Option ID = 317]
2. 2 [Option ID = 318]
3. 3 [Option ID = 319]
4. 4 [Option ID = 320]

6) ldentify the least important activity in teaching of EVS.

(1) Discussion with students

(2) Drawing diagrams and sketches on worksheets
(3) Punishing disobedient students

(4) Taking students outside for nature walk

2 ATTH. F e § Smaw qgeat e 1 ag=w e |

(1) =t & afv==T1

(2) FETHT 97 =T T T H A

(3) FAATFTT FA=TIAT T AT =97

(4) TF=TP=T T AT IHia Hr AT T A AT
[Question ID = 81][Question Description = CTET_P1_PART_3_EVS_SET_124_Q81]
1. 1 [Option ID = 321]
2. 2 [Option ID = 322]

3. 3 [Option ID = 323]
4. 4 [Option ID = 324]




7) ldentify the objective behind including riddles in environmental studies.

(1) To confuse students
(2) To develop logical skills in students
(3) To confuse students and derive pleasure from it

(4) To make students play

Feaforfas ¥ &, a0 F99T9 TF § Teierdl # AT FiT © 9297 F
TEATHT |
(1) == & 97 F7 9HT F:Ar
(2) F=Ta=T |/ 9= a\ar =ated Fa7
(3) FA=ITTEAT % |/ T GiHa FTAT T =7 Aiad ZHT
(4) FE=rTfaeTT &7 = e
[Question ID = 82][Question Description = CTET_P1_PART_3_EVS_SET_124_Q82]
1. 1 [Option ID = 325]
2. 2 [Option ID = 326]

3. 3 [Option ID = 327]
4. 4 [Option ID = 328]

8) Questioning by students is important in teaching-learning of Environmental Studies because it
reflects
A. students’ curiosity
B. gap in students’ understanding
C. capability of teacher

AandB
BandC

C only

A, BandC

(1
(2
(3
(4

Tot” i S S

TATHTOT ST o forerr-sr iR § Pt g wew qeeT et geear g
FIT T 97 Hhas g

A. et f e F

B. FenfiaiFaur H ea< &

C. forer= Freqar =+

(1) A= B
(2)B& C
(3)Fa« C
(@)A BT C

[Question ID = 83][Question Description = CTET_P1_PART_3_EVS_SET_124_Q83]
1. 1 [Option ID = 329]
2. 2 [Option ID = 330]



3. 3 [Option ID = 331]
4. 4 [Option ID = 332]

9) Choose the incorrect statement.

(1) EVS is an interdisciplinary subject.

(2) EVS should be learnt through local resources.

(3) EVS primarily deals with the study of biodiversity.

(4) EVS should be learnt through language and mathematics in class | and Il

TAd AT FHT FAA 0T |

(1) A vm. v s Fwrs o g

(2) £.At.UF. TEAT-UETAT AT HETHAL & WIEAT H gET AR |

(3) =.4T. 07, TEAT: SA-TATHEET F 92939 7 qEr 2 |

(4) FeT | & || F £ 4109, foreror qrar o T F "reas | g AL |
[Question ID = 84][Question Description = CTET_P1_PART_3_EVS_SET_124_Q84]
1. 1 [Option ID = 333]
2. 2 [Option ID = 334]

3. 3 [Option ID = 335]
4. 4 [Option ID = 336]

10) In case of below average students in class what would you do as an EVS teacher ?

(1) Make them write concepts many times
(2) Make them sit in the first row and guide them constantly
(3) Identify their weak areas and design remedial measures for them

(4) Give them additional tasks for home for practice

TF TAET HEAAT fOrAF 2 6 AT AT ATAT FHEAT % A\ FIAT (AT AT
FIA?
(1) 32 FT FT AFLTIOT Torge = o 37
(2) 372 THT Ui~k § FBTHT AT AERE F:IAT
(3) T FHATE T T Z2AT UF TATIA & (o1 THTETT @IoTqT TF A FeAT
(4) IT AT 1 92 7 o & for 347
[Question ID = 85][Question Description = CTET_P1_PART_3_EVS_SET_124_Q85]
1. 1 [Option ID = 337]
2. 2 [Option ID = 338]

3. 3 [Option ID = 339]
4. 4 [Option ID = 340]




11) The area of environmental studies includes

(1) Formal Education

(2) Non-Formal Education

(3) Formal and Non-Formal Education
(4) School Education

THTAEI FEAI T9reT & 4 § gt ¢

(1) &rq=Tiea forer

(2) FATI=ET forsT

(3) srq=TiE & aw o=t forer
(4) TE=rmerT foraT

[Question ID = 86][Question Description = CTET_P1_PART_3_EVS_SET_124_Q86]
1. 1 [Option ID = 341]
2. 2 [Option ID = 342]
3. 3 [Option ID = 343]
4. 4 [Option ID = 344]

12) Conceptual understanding in students’ improves when teacher emphasizes upon
(1) Dialogue
(2) Written and oral tests
(3) Textbooks
(4) Competition

[ERH PRI E e LU E O R e ol o e s M L E O R £ L

(1) ¥=T=E 9%
(2) e v= A e o

(3) TTETETR 9T
(4) afeeTgT a7

[Question ID = 87][Question Description = CTET_P1_PART_3_EVS_SET_124_Q87]
1 [Option ID = 345]
2 [Option ID = 346]
3 [Option ID = 347]
4 [Option ID = 348]

A wnN =



13) An anecdotal record should not
A. focus on problems
B. make judgments
C. identify children’s strengths and weaknesses
D. identify children’s interest and curiosity
Choose the correct pair
1) AandB
2)CandD
3)BandC
4)BandD

e e

SUTEATHTeHT ATHAE | 29 F7 7@l g1 AT’ 2

A TEHEITEHA 97 FHiE gar

B. T gEr

C. T=AT Hl qATHA AT FHIAN AT H1 TgATAAT
D. &=a( I &= &< =T i ag=am-n
REUR S L

(1)A#TB

(2)C %7 D

(3)B#TC

(4)B 3D

[Question ID = 88][Question Description = CTET_P1_PART_3_EVS_SET_124_Q88]
1. 1 [Option ID = 349]
2. 2 [Option ID = 350]
3. 3 [Option ID = 351]
4. 4 [Option ID = 352]

14) In an EVS class, a teacher discusses that houseflies spread diseases. The most appropriate
learning resource for discussion will be
(1) Newspaper
(2) Flashcards
(3)
(4)

4) Posters

Slogans



TF TALTA. AT FAT H, UF 9w == wwar g T 9 v wiEmar et
HATAT 2 | =F=T & [0 qa8 IIgFT A 7 J9199 2

(1) FF=T=
(2) FASTHTSH
(3) FARTT
(4) TTeEE

[Question ID = 89][Question Description = CTET_P1_PART_3_EVS_SET_124_Q89]
1 [Option ID = 353]
2 [Option ID = 354]
3 [Option ID = 355]
. 4 [Option ID = 356]

A w N =

15) Sarita teaches the topic '‘Games we play’ by taking students to the playfield and making them
play different games on different days. Meenu teaches the same topic by showing
picture-cards of different games to students.

Who is using a more effective strategy for maximum involvement of students ?
(1) Sarita

(2)
(3) Depends on the situation
(4) Both Sarita and Meenu

Meenu

G G H UTS TG g AAr HEntE AT # @9 6 7S § T Sl g d7 S
F-FT =21 | fAfa= @ et 2 | /19 3967 915 F deT-AeT @ai
~r-wTe = TRmTEe et #ir gt 2

TA=ITT T 1 ATAFaH AT F2d | H17 SYTET TITAT 0 T FTAN FT T80
g7

(1) =T

(2) ¥
(3) wivfEgfa @ AT Fvar g
(4) 3=t "fEr 3w fig

[Question ID = 90][Question Description = CTET_P1_PART_3_EVS_SET_124_Q90]
1 [Option ID = 357]
2 [Option ID = 358]
. 3 [Option ID = 359]
. 4 [Option ID = 360]

A W N -

Topic:- ENG_Q91-99_L1_P1_S1_CTET



1) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. Ruskin Bond, the famous Anglo-Indian writer worked for a while in a photo studio in England
while trying to find a publisher for his works. Once he started earning money from his writing,
he moved back to India and settled in Dehradun.

2. He spent the next few years eaming his living as a freelance writer, penning short stories
and poems for newspapers and magazines. In 1963, he went to live in Mussoorie where he
furthered his writing career.

3. By this time he was a popular writer and his essays and articles were published in numerous
magazines and newspapers, such as ‘The Pioneer’, 'The Leader’, 'TheTribune’, and ‘The
Telegraph'. He also edited a magazine for four years.

4. In 1980, one of his most popular novels, ‘The Blue Umbrella’ was published. His increasing
fame as a writer caught the attention of Penguin Books. The publishers approached Bond in
the 1980s and asked him to write a few books. Two of his previous novels, ‘The Room on the
Roof’ and its sequel ‘Vagrants in the Valley' were published in one volume by Penguin India in
1993.

5. Over the ensuing years several of his works including a collection of his non-fiction writings,
‘The Best of Ruskin Bond’, and collections of short stories ‘The Night Train at Deoli’, ‘Time
Stops At Shamli’, 'Our Trees Still Grow In Dehra’ were published. Some of his popular titles in
the supernatural genre are ‘Ghost Staries from the Raj’, ‘A Season of Ghosts’, and ‘A Face in
the Dark and Other Hauntings’.

6. Ruskin Bond has experimented with different genres including fiction, essays,
autobiographical, non-fiction, romance, and books for children. He has authored over 500 short
stories, essays and novels, more than 50 books for children, and two volumes of
autobiography, ‘Scenes from a Writer's Life’ and ‘The Lamp is Lit'.

The paragraph expresses the fact that

(1) moving to UK was a profitable decision for Bond.
(2) returning to India from the UK was a profitable decision for Bond.
(3) spending money in UK was not difficult for Bond.

(4) moving to Dehradun turned out to be disastrous for Bond.

[Question ID = 121][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q91]

1. 1 [Option ID = 481]
2. 2 [Option ID = 482]
3.

4. 4 [Option ID = 484]

3 [Option ID = 483]



2) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. Ruskin Bond, the famous Anglo-Indian writer worked for a while in a photo studio in England
while trying to find a publisher for his works. Once he started earning money from his writing,
he moved back to India and settled in Dehradun.

2. He spent the next few years eaming his living as a freelance writer, penning short stories
and poems for newspapers and magazines. In 1963, he went to live in Mussoorie where he
furthered his writing career.

3. By this time he was a popular writer and his essays and articles were published in numerous
magazines and newspapers, such as ‘The Pioneer’, 'The Leader’, 'TheTribune’, and ‘The
Telegraph'. He also edited a magazine for four years.

4. In 1980, one of his most popular novels, ‘The Blue Umbrella’ was published. His increasing
fame as a writer caught the attention of Penguin Books. The publishers approached Bond in
the 1980s and asked him to write a few books. Two of his previous novels, ‘The Room on the
Roof’ and its sequel ‘Vagrants in the Valley' were published in one volume by Penguin India in
1993.

5. Over the ensuing years several of his works including a collection of his non-fiction writings,
‘The Best of Ruskin Bond’, and collections of short stories ‘The Night Train at Deoli’, ‘Time
Stops At Shamli’, 'Our Trees Still Grow In Dehra’ were published. Some of his popular titles in
the supernatural genre are ‘Ghost Staries from the Raj’, ‘A Season of Ghosts’, and ‘A Face in
the Dark and Other Hauntings’.

6. Ruskin Bond has experimented with different genres including fiction, essays,
autobiographical, non-fiction, romance, and books for children. He has authored over 500 short
stories, essays and novels, more than 50 books for children, and two volumes of
autobiography, ‘Scenes from a Writer's Life’ and ‘The Lamp is Lit'.

In the phrase ‘freelance writer', the underlined word is a/an
(1) Adverb

(2) Noun

(3) Adjective

(4) Preposition
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3) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. Ruskin Bond, the famous Anglo-Indian writer worked for a while in a photo studio in England
while trying to find a publisher for his works. Once he started earning money from his writing,
he moved back to India and settled in Dehradun.

2. He spent the next few years eaming his living as a freelance writer, penning short stories
and poems for newspapers and magazines. In 1963, he went to live in Mussoorie where he
furthered his writing career.

3. By this time he was a popular writer and his essays and articles were published in numerous
magazines and newspapers, such as ‘The Pioneer’, 'The Leader’, 'TheTribune’, and ‘The
Telegraph'. He also edited a magazine for four years.

4. In 1980, one of his most popular novels, ‘The Blue Umbrella’ was published. His increasing
fame as a writer caught the attention of Penguin Books. The publishers approached Bond in
the 1980s and asked him to write a few books. Two of his previous novels, ‘The Room on the
Roof’ and its sequel ‘Vagrants in the Valley' were published in one volume by Penguin India in
1993.

5. Over the ensuing years several of his works including a collection of his non-fiction writings,
‘The Best of Ruskin Bond’, and collections of short stories ‘The Night Train at Deoli’, ‘Time
Stops At Shamli’, 'Our Trees Still Grow In Dehra’ were published. Some of his popular titles in
the supernatural genre are ‘Ghost Staries from the Raj’, ‘A Season of Ghosts’, and ‘A Face in
the Dark and Other Hauntings’.

6. Ruskin Bond has experimented with different genres including fiction, essays,
autobiographical, non-fiction, romance, and books for children. He has authored over 500 short
stories, essays and novels, more than 50 books for children, and two volumes of
autobiography, ‘Scenes from a Writer's Life’ and ‘The Lamp is Lit'.

The phrase ‘caught the atiention of in this context, means

(1) the publishers were impressed by Ruskin’s popularity as a writer and his writing style.
(2) the publishers were happy with the popularity that Ruskin enjoyed.
(3) the publishers were disinterested in meeting Ruskin.

(4) the publishers were looking forward to reading his next publication.
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4) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. Ruskin Bond, the famous Anglo-Indian writer worked for a while in a photo studio in England
while trying to find a publisher for his works. Once he started earning money from his writing,
he moved back to India and settled in Dehradun.

2. He spent the next few years eaming his living as a freelance writer, penning short stories
and poems for newspapers and magazines. In 1963, he went to live in Mussoorie where he
furthered his writing career.

3. By this time he was a popular writer and his essays and articles were published in numerous
magazines and newspapers, such as ‘The Pioneer’, 'The Leader’, 'TheTribune’, and ‘The
Telegraph'. He also edited a magazine for four years.

4. In 1980, one of his most popular novels, ‘The Blue Umbrella’ was published. His increasing
fame as a writer caught the attention of Penguin Books. The publishers approached Bond in
the 1980s and asked him to write a few books. Two of his previous novels, ‘The Room on the
Roof’ and its sequel ‘Vagrants in the Valley' were published in one volume by Penguin India in
1993.

5. Over the ensuing years several of his works including a collection of his non-fiction writings,
‘The Best of Ruskin Bond’, and collections of short stories ‘The Night Train at Deoli’, ‘Time
Stops At Shamli’, 'Our Trees Still Grow In Dehra’ were published. Some of his popular titles in
the supernatural genre are ‘Ghost Staries from the Raj’, ‘A Season of Ghosts’, and ‘A Face in
the Dark and Other Hauntings’.

6. Ruskin Bond has experimented with different genres including fiction, essays,
autobiographical, non-fiction, romance, and books for children. He has authored over 500 short
stories, essays and novels, more than 50 books for children, and two volumes of
autobiography, ‘Scenes from a Writer's Life’ and ‘The Lamp is Lit'.

The fact that Ruskin Bond has been a versatile writer is evident from the

(1) number of publishers who were interested in publishing his books.
(2) variety of themes on which he has written his books.
(3) variety of places described in his books.

(4) richness of the language he has used in his books.
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5) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. Ruskin Bond, the famous Anglo-Indian writer worked for a while in a photo studio in England
while trying to find a publisher for his works. Once he started earning money from his writing,
he moved back to India and settled in Dehradun.

2. He spent the next few years eaming his living as a freelance writer, penning short stories
and poems for newspapers and magazines. In 1963, he went to live in Mussoorie where he
furthered his writing career.

3. By this time he was a popular writer and his essays and articles were published in numerous
magazines and newspapers, such as ‘The Pioneer’, 'The Leader’, 'TheTribune’, and ‘The
Telegraph'. He also edited a magazine for four years.

4. In 1980, one of his most popular novels, ‘The Blue Umbrella’ was published. His increasing
fame as a writer caught the attention of Penguin Books. The publishers approached Bond in
the 1980s and asked him to write a few books. Two of his previous novels, ‘The Room on the
Roof’ and its sequel ‘Vagrants in the Valley' were published in one volume by Penguin India in
1993.

5. Over the ensuing years several of his works including a collection of his non-fiction writings,
‘The Best of Ruskin Bond’, and collections of short stories ‘The Night Train at Deoli’, ‘Time
Stops At Shamli’, 'Our Trees Still Grow In Dehra’ were published. Some of his popular titles in
the supernatural genre are ‘Ghost Staries from the Raj’, ‘A Season of Ghosts’, and ‘A Face in
the Dark and Other Hauntings’.

6. Ruskin Bond has experimented with different genres including fiction, essays,
autobiographical, non-fiction, romance, and books for children. He has authored over 500 short
stories, essays and novels, more than 50 books for children, and two volumes of
autobiography, ‘Scenes from a Writer's Life’ and ‘The Lamp is Lit'.

Apart from writing, Ruskin spent four years as alan

(1) shopkeeper in the UK.
(2) writer in Dehradun.
(3) painter in Mussoorie.

(4) editor of a magazine.
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6) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. Ruskin Bond, the famous Anglo-Indian writer worked for a while in a photo studio in England
while trying to find a publisher for his works. Once he started earning money from his writing,
he moved back to India and settled in Dehradun.

2. He spent the next few years eaming his living as a freelance writer, penning short stories
and poems for newspapers and magazines. In 1963, he went to live in Mussoorie where he
furthered his writing career.

3. By this time he was a popular writer and his essays and articles were published in numerous
magazines and newspapers, such as ‘The Pioneer’, 'The Leader’, 'TheTribune’, and ‘The
Telegraph'. He also edited a magazine for four years.

4. In 1980, one of his most popular novels, ‘The Blue Umbrella’ was published. His increasing
fame as a writer caught the attention of Penguin Books. The publishers approached Bond in
the 1980s and asked him to write a few books. Two of his previous novels, ‘The Room on the
Roof’ and its sequel ‘Vagrants in the Valley' were published in one volume by Penguin India in
1993.

5. Over the ensuing years several of his works including a collection of his non-fiction writings,
‘The Best of Ruskin Bond’, and collections of short stories ‘The Night Train at Deoli’, ‘Time
Stops At Shamli’, 'Our Trees Still Grow In Dehra’ were published. Some of his popular titles in
the supernatural genre are ‘Ghost Staries from the Raj’, ‘A Season of Ghosts’, and ‘A Face in
the Dark and Other Hauntings’.

6. Ruskin Bond has experimented with different genres including fiction, essays,
autobiographical, non-fiction, romance, and books for children. He has authored over 500 short
stories, essays and novels, more than 50 books for children, and two volumes of
autobiography, ‘Scenes from a Writer's Life’ and ‘The Lamp is Lit'.

‘Autobiographical’ means

(1) writing about someone else’s life.
(2) writing about someone famous.
(3) writing about one’s own life.

(4) writing about one’s family.
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7) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. Ruskin Bond, the famous Anglo-Indian writer worked for a while in a photo studio in England
while trying to find a publisher for his works. Once he started earning money from his writing,
he moved back to India and settled in Dehradun.

2. He spent the next few years eaming his living as a freelance writer, penning short stories
and poems for newspapers and magazines. In 1963, he went to live in Mussoorie where he
furthered his writing career.

3. By this time he was a popular writer and his essays and articles were published in numerous
magazines and newspapers, such as ‘The Pioneer’, 'The Leader’, 'TheTribune’, and ‘The
Telegraph'. He also edited a magazine for four years.

4. In 1980, one of his most popular novels, ‘The Blue Umbrella’ was published. His increasing
fame as a writer caught the attention of Penguin Books. The publishers approached Bond in
the 1980s and asked him to write a few books. Two of his previous novels, ‘The Room on the
Roof’ and its sequel ‘Vagrants in the Valley' were published in one volume by Penguin India in
1993.

5. Over the ensuing years several of his works including a collection of his non-fiction writings,
‘The Best of Ruskin Bond’, and collections of short stories ‘The Night Train at Deoli’, ‘Time
Stops At Shamli’, 'Our Trees Still Grow In Dehra’ were published. Some of his popular titles in
the supernatural genre are ‘Ghost Staries from the Raj’, ‘A Season of Ghosts’, and ‘A Face in
the Dark and Other Hauntings’.

6. Ruskin Bond has experimented with different genres including fiction, essays,
autobiographical, non-fiction, romance, and books for children. He has authored over 500 short
stories, essays and novels, more than 50 books for children, and two volumes of
autobiography, ‘Scenes from a Writer's Life’ and ‘The Lamp is Lit'.

Ruskin became famous after the publication of his book

(1) The Blue Umbrella

(2) The Room on the Roof
(3) The Night Train at Deoli
(4) A Season of Ghosts
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8) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. Ruskin Bond, the famous Anglo-Indian writer worked for a while in a photo studio in England
while trying to find a publisher for his works. Once he started earning money from his writing,
he moved back to India and settled in Dehradun.

2. He spent the next few years eaming his living as a freelance writer, penning short stories
and poems for newspapers and magazines. In 1963, he went to live in Mussoorie where he
furthered his writing career.

3. By this time he was a popular writer and his essays and articles were published in numerous
magazines and newspapers, such as ‘The Pioneer’, 'The Leader’, 'TheTribune’, and ‘The
Telegraph'. He also edited a magazine for four years.

4. In 1980, one of his most popular novels, ‘The Blue Umbrella’ was published. His increasing
fame as a writer caught the attention of Penguin Books. The publishers approached Bond in
the 1980s and asked him to write a few books. Two of his previous novels, ‘The Room on the
Roof’ and its sequel ‘Vagrants in the Valley' were published in one volume by Penguin India in
1993.

5. Over the ensuing years several of his works including a collection of his non-fiction writings,
‘The Best of Ruskin Bond’, and collections of short stories ‘The Night Train at Deoli’, ‘Time
Stops At Shamli’, 'Our Trees Still Grow In Dehra’ were published. Some of his popular titles in
the supernatural genre are ‘Ghost Staries from the Raj’, ‘A Season of Ghosts’, and ‘A Face in
the Dark and Other Hauntings’.

6. Ruskin Bond has experimented with different genres including fiction, essays,
autobiographical, non-fiction, romance, and books for children. He has authored over 500 short
stories, essays and novels, more than 50 books for children, and two volumes of
autobiography, ‘Scenes from a Writer's Life’ and ‘The Lamp is Lit'.

The word ‘sequel' means

(1) the second part of a book.
(2) the third part of a book.

(3) the first part of a book.

(4) a book that has many parts.
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9) Directions : Read the passage given below and answer the questions by selecting the correct /

most appropriate options.

1. Ruskin Bond, the famous Anglo-Indian writer worked for a while in a photo studio in England
while trying to find a publisher for his works. Once he started earning money from his writing,
he moved back to India and settled in Dehradun.

2. He spent the next few years eaming his living as a freelance writer, penning short stories
and poems for newspapers and magazines. In 1963, he went to live in Mussoorie where he
furthered his writing career.

3. By this time he was a popular writer and his essays and articles were published in numerous
magazines and newspapers, such as ‘The Pioneer’, 'The Leader’, 'TheTribune’, and ‘The
Telegraph'. He also edited a magazine for four years.

4. In 1980, one of his most popular novels, ‘The Blue Umbrella’ was published. His increasing
fame as a writer caught the attention of Penguin Books. The publishers approached Bond in
the 1980s and asked him to write a few books. Two of his previous novels, ‘The Room on the
Roof’ and its sequel ‘Vagrants in the Valley' were published in one volume by Penguin India in
1993.

5. Over the ensuing years several of his works including a collection of his non-fiction writings,
‘The Best of Ruskin Bond’, and collections of short stories ‘The Night Train at Deoli’, ‘Time
Stops At Shamli’, 'Our Trees Still Grow In Dehra’ were published. Some of his popular titles in
the supernatural genre are ‘Ghost Staries from the Raj’, ‘A Season of Ghosts’, and ‘A Face in
the Dark and Other Hauntings’.

6. Ruskin Bond has experimented with different genres including fiction, essays,
autobiographical, non-fiction, romance, and books for children. He has authored over 500 short
stories, essays and novels, more than 50 books for children, and two volumes of
autobiography, ‘Scenes from a Writer's Life’ and ‘The Lamp is Lit'.

A word in the passage that means ‘following’ as used in this passageis

(1) increasing
(2) ensuing
(3) including
(4) haunting
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1) Directions : Read the poem given below and answer the guestions by selecting the correct /

most appropriate options.

Rise, brothers, rise; the wakening skies pray to the morning light,

The wind lies asleep in the arms of the dawn like a child that has cried all night.
Come, let us gather our nets from the shore and set our catamarans free,

To capture the leaping wealth of the tide, for we are the kings of the sea! 4
No longer delay, let us hasten away in the track of the sea gull's call,

The sea is our mother, the cloud is our brother, the waves are our comrades all.
What though we toss at the fall of the sun where the hand of the sea-god drives?

He who holds the storm by the hair, will hide in his breastourlives. _ 8

Sweet is the shade of the cocoanut glade, and the scent of the mango grove,

And sweet are the sands at the full o’ the moon with the sound of the voices we love;
But sweeter, O brothers, the kiss of the spray and the dance of the wild foam's glee;
Row, brothers, row to the edge of the verge, where the low sky mates withthesea. 12

‘The wind lies asleep in the arms of the dawn’ suggests that

1) it is @ sunny morning.

(
(2) itis a windy morning.
(3) it is a calm morning.
(

4) it is a stormy morning.
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2) Directions : Read the poem given below and answer the questions by selecting the correct /

most appropriate options.

Rise, brothers, rise; the wakening skies pray to the morning light,

The wind lies asleep in the arms of the dawn like a child that has cried all night.
Come, let us gather our nets from the shore and set our catamarans free,

To capture the leaping wealth of the tide, for we are the kings of the seal 4
No longer delay, let us hasten away in the track of the sea gull's call,

The sea is our mother, the cloud is our brother, the waves are our comrades all.
What though we toss at the fall of the sun where the hand of the sea-god drives?

He who holds the storm by the hair, will hide in his breastourlives. __ 8

Sweet is the shade of the cocoanut glade, and the scent of the mango grove,

And sweet are the sands at the full o’ the moon with the sound of the voices we love;
But sweeter, O brothers, the kiss of the spray and the dance of the wild foam's glee;
Row, brothers, row to the edge of the verge, where the low sky mates withthesea. 12

The ‘leaping wealth of the tide’ refers to

(1) the sea plants.

(2) the sea animals.

(3) the pearl in the oyster.
(4) the fishes.
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3) Directions : Read the poem given below and answer the questions by selecting the correct /
most appropriate options.
Rise, brothers, rise; the wakening skies pray to the morning light,
The wind lies asleep in the arms of the dawn like a child that has cried all night.
Come, let us gather our nets from the shore and set our catamarans free,
To capture the leaping wealth of the tide, for we are the kings of the seal 4
No longer delay, let us hasten away in the track of the sea gull's call,
The sea is our mother, the cloud is our brother, the waves are our comrades all.
What though we toss at the fall of the sun where the hand of the sea-god drives?
He who holds the storm by the hair, will hide in his breastourlives. _ 8
Sweet is the shade of the cocoanut glade, and the scent of the mango grove,
And sweet are the sands at the full o’ the moon with the sound of the voices we love;
But sweeter, O brothers, the kiss of the spray and the dance of the wild foam's glee;
Row, brothers, row to the edge of the verge, where the low sky mates withthesea. 12

‘The sea is our mother, the cloud is our brother, the waves are our comrades’, refers to

1) the close connect between all the elements of nature.
2) the close connect between the fishermen and the forces of nature.

3) the close connect between the fishermen and the sea.

(
(
(
(4) the close connect between the fishermen and the fishes.
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4) Directions : Read the poem given below and answer the guestions by selecting the correct /

most appropriate options.

Rise, brothers, rise; the wakening skies pray to the morning light,

The wind lies asleep in the arms of the dawn like a child that has cried all night.
Come, let us gather our nets from the shore and set our catamarans free,

To capture the leaping wealth of the tide, for we are the kings of the sea! L
No longer delay, let us hasten away in the track of the sea gull's call,

The sea is our mother, the cloud is our brother, the waves are our comrades all.
What though we toss at the fall of the sun where the hand of the sea-god drives?

He who holds the storm by the hair, will hide in his breastourlives. _ 8

Sweet is the shade of the cocoanut glade, and the scent of the mango grove,

And sweet are the sands at the full o’ the moon with the sound of the voices we love;
But sweeter, O brothers, the kiss of the spray and the dance of the wild foam's glee;
Row, brothers, row to the edge of the verge, where the low sky mates withthesea. 12

‘He who holds the storm by hair’ is an example of

1) Simile

(
(2) Personification
(3) Metaphor

(

4) Hyperbole
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5) Directions : Read the poem given below and answer the questions by selecting the correct /

most appropriate options.

Rise, brothers, rise; the wakening skies pray to the morning light,

The wind lies asleep in the arms of the dawn like a child that has cried all night.
Come, let us gather our nets from the shore and set our catamarans free,

To capture the leaping wealth of the tide, for we are the kings of the seal 4
No longer delay, let us hasten away in the track of the sea gull's call,

The sea is our mother, the cloud is our brother, the waves are our comrades all.
What though we toss at the fall of the sun where the hand of the sea-god drives?

He who holds the storm by the hair, will hide in his breastourlives. __ 8

Sweet is the shade of the cocoanut glade, and the scent of the mango grove,

And sweet are the sands at the full o’ the moon with the sound of the voices we love;
But sweeter, O brothers, the kiss of the spray and the dance of the wild foam's glee;
Row, brothers, row to the edge of the verge, where the low sky mates withthesea. 12

The last stanza (lines 9-12) is a description of the seaside at
(1) dawn.

(2) afternoon.

(3) dusk.

(4) night.
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6) Directions : Read the poem given below and answer the questions by selecting the correct /
most appropriate options.
Rise, brothers, rise; the wakening skies pray to the morning light,
The wind lies asleep in the arms of the dawn like a child that has cried all night.
Come, let us gather our nets from the shore and set our catamarans free,
To capture the leaping wealth of the tide, for we are the kings of the seal 4
No longer delay, let us hasten away in the track of the sea gull's call,
The sea is our mother, the cloud is our brother, the waves are our comrades all.
What though we toss at the fall of the sun where the hand of the sea-god drives?
He who holds the storm by the hair, will hide in his breastourlives. _ 8
Sweet is the shade of the cocoanut glade, and the scent of the mango grove,
And sweet are the sands at the full o’ the moon with the sound of the voices we love;
But sweeter, O brothers, the kiss of the spray and the dance of the wild foam's glee;
Row, brothers, row to the edge of the verge, where the low sky mates withthesea. 12

‘Edge of the verge where the low sky mates with the sea’, suggests

1) the horizon.
2) the golden beach.

3) the deep ocean.

(
(
(
(4) the trackless sky.
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Topic:- ENG_Q106-120_L1_P1_S1_CTET

1) In Sudha's classroom she uses her students’ first or main language to explain the grammar
and vocabulary of the text and then she helps them translate it. Sudha is relying on
method to help her students learn English.

(1) Structural Method

(2) Communicative Language Teaching

(3) Grammar Translation

(4) Direct
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2) According to Cummins, social language is also known as the language of

1) The playground

(

(2) The classroom

(3) The language laboratory
(

4) The newsroom

[Question ID = 137][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q107]
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3) Phonemic awareness is the understanding that

1) language has phonemes.

(
(2) sounds of a language can be identified, isolated and manipulated.
(3) sounds of a language need to be memorised.

(

4) sounds of a language cannot be identified and manipulated.

[Question ID = 138][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q108]
1. 1 [Option ID = 549]
2. 2 [Option ID = 550]
3. 3 [Option ID = 551]
4. 4 [Option ID = 552]

4) Rekha is getting her students to isolate beginning, middle and ending sounds. By doing so she
is strengthening their

(1) phonological awareness
(2) morphological awareness
(3) graphological awareness
(4) grammar awareness

[Question ID = 139][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q109]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

5) Samina uses a lot of visualization while reading with her students. How does visualization help
students while reading ?

(1) It helps them draw an idea that they are thinking about.

(2) It helps them create a picture of what they are reading so as to understand the text better.
(3) It helps them understand the movie about the text better.

(4) It helps them plan their reading homework well.

[Question ID = 140][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q110]
1. 1 [Option ID = 557]
2. 2 [Option ID = 558]
3. 3 [Option ID = 559]
4. 4 [Option ID = 560]



6) Guided reading helps students develop greater control over the reading process through the
development of reading strategies which assist in

(1) decoding and construct meaning
(2) decoding and encoding

(3) decoding and visualization

(4) decoding and reading

[Question ID = 141][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q111]
1 [Option ID = 561]
2 [Option ID = 562]
3 [Option ID = 563]
4 [Option ID = 564]

A wWN =

7) After telling her students a story, Rosy gives them flashcards. She wants them to arrange the
flashcards in the sequence of the story. What skill is she testing ?

(1) Reading

(2) Listening

(3) Speaking

(4) Visualization

[Question ID = 142][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q112]
1. 1 [Option ID = 565]
2. 2 [Option ID = 566]
3. 3 [Option ID = 567]
4. 4 [Option ID = 568]

8) Sadhna is calculating the difficulty level of the test questions. In one of her questions she
notices the difficulty level has a value of 90. What should Sadhna do to the item ?

(1) The item should the kept in the test

(2) The item should be discarded from the test.
(3) The item is moderately difficult for the test
(4) The item is a good question for the test.

[Question ID = 143][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q113]
1 [Option ID = 569]
2 [Option ID = 570]
3 [Option ID = 571]
4 [Option ID = 572]

A wN =

9) The concept of BICS - Basic Interpersonal Communication Skills was given by

(1) Stephen Krashen
(2) Lev Vygotsky
(3) B.F. Skinner

(4) Jim Cummins

[Question ID = 144][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q114]
1 [Option ID = 573]
2 [Option ID = 574]
3 [Option ID = 575]
4 [Option ID = 576]

AW N =



10) Gurjeet wants to teach her students social skills and social language. Which strategy would
best suit her ?
(1) Drama
(2) Plays
(3) Role play
(4) Debates

[Question ID = 145][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q115]
1. 1 [Option ID = 577]

2. 2 [Option ID = 578]
3. 3 [Option ID = 579]
4. 4 [Option ID = 580]

11) Silent period is critical in language learning. This statement is
(1) True
(2) Partially true
(3) False

(4) Factually incorrect

[Question ID = 146][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q116]
1. 1 [Option ID = 581]

2. 2 [Option ID = 582]
3. 3 [Option ID = 583]
4. 4 [Option ID = 584]

12) Which of the following is true for BICS (Basic Interpersonal Communication Skills} and CALP
(Cognitive Academic Language Proficiency) ?
(1) CALP is another word for BICS
(2) CALP is different from BICS
(3) CALP is not related to BICS
(4) CALP is an extension of BICS

[Question ID = 147][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q117]
1. 1 [Option ID = 585]
2. 2 [Option ID = 586]
3. 3 [Option ID = 587]
4. 4 [Option ID = 588]

13) Language students who favour learning can recall what they hear, prefer oral
instruction and learn by listening and speaking.
(1) Visual

(2) Auditory

(3) Kinaesthetic

(4) Spatial

[Question ID = 148][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q118]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]
3. 3 [Option ID = 591]
4. 4 [Option ID = 592]



14) Which among these are the process of word formation ?

a. Coinage

b. Borrowing

C. Compoundng
d. Blending
(1)a,bandc
(2)b,dand c
(3)a,cand d

(4)a,b,candd

[Question ID = 149][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q119]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]
3. 3 [Option ID = 595]
4. 4 [Option ID = 596]

15) Which of these is based on the premise that teacher should be silent as much as possible and
learners should be encouraged to produce language as much as possible ?

(1) Suggestopedia

(2) Total Physical Response
(3) The Silent Way

(4) The Whole Language

[Question ID = 150][Question Description = CTET_P1_PART_4_LANGUAGE_1_SET_124_ENGLISH_Q120]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

Topic:- HIN_Q121-128_L2_P1_S1_CTET



") fREer ; AEforfae TErrer FT UEET qE U TAT F Ag/AaE SUT S0 AT
faoT Fr g7 |
Fewst arat o e % e o $27 T U TET-AT T AT A AT | A TZ TG
OTTEATE | 8 | Agl % AN 29 HigAs 2l Arad I | ATAET 7L A T & T | 99
(B2 B e 0 o e s e 2 B e b e K I 0 B e
AT TE FATT | IRAT T4T  TAT AT a9 F (o7 &7 U o997 39 22l
Tl AT-HLHL o T | oF g1 39 4000 T TIAT 221 U2 AT H FAAAT S0
ATt YerTe At Jre @t | g wrEt Ao ¥ gt A g 7 9 7 zfogm
2000 #ATAT & FATET T8 FAT TAT | GaTe § 0T 37 ag7l 0 3367 2211 ge 1%
qt g7 Haga U 99 FEd 7| yqE g Jey a4 oF | 9 a9 e
T O A | A H GAT A AT IEE T AT FHL | 2T F U A 97 uE
TR 4T OEH s T Tg4n 97 | SagEse 29 Fered wgd 2 | a9t
T AT Tl AT ATEH AL0AL AT 7 % 14 x 28 FAY. | Ty ergal it Taray it 220
FT AT 10 x 20 x 40 F.HT. 97 | g7 TH-TAL T THel (FAHEL T2 T9 7 |
Tl ATl T FIAT == 4T |
ST ATAT F By F TR § 20 1 UF TST-A7 & AT gAT AT | T 36 F4T
RETRG I B
(1) g™

(2) TgASEST
(3) e
(4) FTEATEAT

[Question ID = 181][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q121]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]
3. 3 [Option ID = 723]
4. 4 [Option ID = 724]




2) fader : fReforfae T 71 Tg%7 05 77 T4 ¥ Gg/AaE §9g g9 a5
faoT Fr g7 |
Fewst arat o e % e o $27 T U TET-AT T AT A AT | A TZ TG
OTTEATE | 8 | Agl % AN 29 HigAs 2l Arad I | ATAET 7L A T & T | 99
(B2 B e 0 o e s e 2 B e b e K I 0 B e
AT TE FATT | IRAT T4T  TAT AT a9 F (o7 &7 U o997 39 22l
Tl AT-HLHL o T | oF g1 39 4000 T TIAT 221 U2 AT H FAAAT S0
ATt YerTe At Jre @t | g wrEt Ao ¥ gt A g 7 9 7 zfogm
2000 #ATAT & FATET T8 FAT TAT | GaTe § 0T 37 ag7l 0 3367 2211 ge 1%
qt g7 Haga U 99 FEd 7| yqE g Jey a4 oF | 9 a9 e
T O A | A H GAT A AT IEE T AT FHL | 2T F U A 97 uE
TR 4T OEH s T Tg4n 97 | SagEse 29 Fered wgd 2 | a9t
T AT Tl AT ATEH AL0AL AT 7 % 14 x 28 FAY. | Ty ergal it Taray it 220
FT AT 10 x 20 x 40 F.HT. 97 | g7 TH-TAL T THel (FAHEL T2 T9 7 |
Tl ATl T FIAT == 4T |

HIgASTSET H1 Sl & i Yo | 1 A & 2

(1) Ha T a5

(2) g 7 F2=T 9%
(3) FITHT | AT a5
(4) RIT | ST T

[Question ID = 182][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q122]
1. 1 [Option ID = 725]
2. 2 [Option ID = 726]
3. 3 [Option ID = 727]
4. 4 [Option ID = 728]



3 fAder ; faforfas T #1 9EET GF T TAT F TE/AEE I IAT AT
faseT #1 AT |
Fewst arat o e % e o $27 T U TET-AT T AT A AT | A TZ TG
OTTEATE | 8 | Agl % AN 29 HigAs 2l Arad I | ATAET 7L A T & T | 99
(B2 B e 0 o e s e 2 B e b e K I 0 B e
AT HT FATT | IHEAT T2 H YAd ATE a9 F oy 37 SIS ST 29 Sat
Tl AT-HLHL o T | oF g1 39 4000 T TIAT 221 U2 AT H FAAAT S0
FTAT YETITE At e @it | e |JrEr AT % gl A @i § 9w w7 stagm
2000 #ATAT & FATET T8 FAT TAT | GaTe § 0T 37 ag7l 0 3367 2211 ge 1%
TET T Ao U 5 =REd T | 99T wE e wq e o AT | qd = % fewe
T G T | ST H G AR T IHE AT AT FHL | Y F F O v uE
FRETET A EH 9 TS 7247 97 | Zagrane 2 Fered Fgd g | A9
T A ZEN FT AEH LA ATT7 % 14 x 28 FAT. | Fly argZi i Tard Hi 22
FT AW 10 x 20 x 40 FHAT. 97 | AT TH-TAL T AFEH (HeA(HIe 52 a9 7 |
Tl ATl T FIAT == 4T |

HIgASTEET H1 €2 thavl e o 2
(1) 400 7

(2) 4,00,000 79

(3) 4,000 =TT

(4) 2,000 =TT

[Question ID = 183][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q123]
1. 1 [Option ID = 729]
2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]




4 fader : fRefofas = F1 9zF7 95 T T4 F Gg/aas quge gw] a5
faseT #1 AT |
Fewst arat o e % e o $27 T U TET-AT T AT A AT | A TZ TG
OTTEATE | 8 | Agl % AN 29 HigAs 2l Arad I | ATAET 7L A T & T | 99
(B2 B e 0 o e s e 2 B e b e K I 0 B e
AT HT FATT | IHEAT T2 H YAd ATE a9 F oy 37 SIS ST 29 Sat
Tl AT-HLHL o T | oF g1 39 4000 T TIAT 221 U2 AT H FAAAT S0
FTAT YETITE At e @it | e |JrEr AT % gl A @i § 9w w7 stagm
2000 #ATAT & FATET T8 FAT TAT | GaTe § 0T 37 ag7l 0 3367 2211 ge 1%
TET T Ao U 5 =REd T | 99T wE e wq e o AT | qd = % fewe
T G T | ST H G AR T IHE AT AT FHL | Y F F O v uE
FRETET A EH 9 TS 7247 97 | Zagrane 2 Fered Fgd g | A9
T A ZEN FT AEH LA ATT7 % 14 x 28 FAT. | Fly argZi i Tard Hi 22
FT AW 10 x 20 x 40 FHAT. 97 | AT TH-TAL T AFEH (HeA(HIe 52 a9 7 |
Tl ATl T FIAT == 4T |

Wﬁ-ﬁﬁr?ﬁmﬁ-a—&g[&ﬁﬁaqqﬂ alT%ﬁEl-?ﬁ'@"le'?

(1) T FgA LT

(2) 7 St foerger v o e O
(3) 7 ST TH-FAL A AL g T

(4) 7 =TT TF-gET 7 A g

[Question ID = 184][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q124]
1. 1 [Option ID = 733]
2. 2 [Option ID = 734]
3. 3 [Option ID = 735]
4. 4 [Option ID = 736]



5) fader : fReforfaT T 71 Tz 75 T7 T47 ¥ Gg/AaE §9g g9 a5
faoT Fr g7 |
Fewst arat o e % e o $27 T U TET-AT T AT A AT | A TZ TG
OTTEATE | 8 | Agl % AN 29 HigAs 2l Arad I | ATAET 7L A T & T | 99
(B2 B e 0 o e s e 2 B e b e K I 0 B e
AT TE FATT | IRAT T4T  TAT AT a9 F (o7 &7 U o997 39 22l
Tl AT-HLHL o T | oF g1 39 4000 T TIAT 221 U2 AT H FAAAT S0
ATt YerTe At Jre @t | g wrEt Ao ¥ gt A g 7 9 7 zfogm
2000 #ATAT & FATET T8 FAT TAT | GaTe § 0T 37 ag7l 0 3367 2211 ge 1%
qt g7 Haga U 99 FEd 7| yqE g Jey a4 oF | 9 a9 e
T O A | A H GAT A AT IEE T AT FHL | 2T F U A 97 uE
TR 4T OEH s T Tg4n 97 | SagEse 29 Fered wgd 2 | a9t
T AT Tl AT ATEH AL0AL AT 7 % 14 x 28 FAY. | Ty ergal it Taray it 220
FT AT 10 x 20 x 40 F.HT. 97 | g7 TH-TAL T THel (FAHEL T2 T9 7 |
Tl ATl T FIAT == 4T |

(1) T2 5 U File T% F41 ATLRETT &0

(2) 18T H & 721 A

(3) T T =t €= A

(4) T FATAT I
[Question ID = 185][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q125]
1. 1 [Option ID = 737]
2. 2 [Option ID = 738]

3. 3 [Option ID = 739]
4. 4 [Option ID = 740]




o) fAder : fAeforaa T #1 9EHT G T TAT F TH/AAE T IAT AT
faseT #1 AT |
Fewst arat o e % e o $27 T U TET-AT T AT A AT | A TZ TG
OTTEATE | 8 | Agl % AN 29 HigAs 2l Arad I | ATAET 7L A T & T | 99
(B2 B e 0 o e s e 2 B e b e K I 0 B e
AT HT FATT | IHEAT T2 H YAd ATE a9 F oy 37 SIS ST 29 Sat
Tl AT-HLHL o T | oF g1 39 4000 T TIAT 221 U2 AT H FAAAT S0
FTAT YETITE At e @it | e |JrEr AT % gl A @i § 9w w7 stagm
2000 #ATAT & FATET T8 FAT TAT | GaTe § 0T 37 ag7l 0 3367 2211 ge 1%
TET T Ao U 5 =REd T | 99T wE e wq e o AT | qd = % fewe
T G T | ST H G AR T IHE AT AT FHL | Y F F O v uE
FRETET A EH 9 TS 7247 97 | Zagrane 2 Fered Fgd g | A9
T A ZEN FT AEH LA ATT7 % 14 x 28 FAT. | Fly argZi i Tard Hi 22
FT AW 10 x 20 x 40 FHAT. 97 | AT TH-TAL T AFEH (HeA(HIe 52 a9 7 |
Tl ATl T FIAT == 4T |

fRerferfeas 5 & Fm-wt fHorwar o7 SH T T aiead qg@i g ?

(1) =sft ==t i 20 FT AT THW 9T

(2) T+t orz=t Y Tt i 20 F AT THE o7

(3) T arg=l & = HT FT=FAT A9 AT

(4) Tt oTgt ¥ ATl AT FAEAT A= AGH AT
[Question ID = 186][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q126]
1. 1 [Option ID = 741]
2. 2 [Option ID = 742]

3. 3 [Option ID = 743]
4. 4 [Option ID = 744]




7 fRder : ReEforfaT T 71 Tz 75 T0 T4T ¥ Gg/AaE §9g g9 a5
faoT Fr g7 |
Fewst arat o e % e o $27 T U TET-AT T AT A AT | A TZ TG
OTTEATE | 8 | Agl % AN 29 HigAs 2l Arad I | ATAET 7L A T & T | 99
(B2 B e 0 o e s e 2 B e b e K I 0 B e
AT TE FATT | IRAT T4T  TAT AT a9 F (o7 &7 U o997 39 22l
Tl AT-HLHL o T | oF g1 39 4000 T TIAT 221 U2 AT H FAAAT S0
ATt YerTe At Jre @t | g wrEt Ao ¥ gt A g 7 9 7 zfogm
2000 #ATAT & FATET T8 FAT TAT | GaTe § 0T 37 ag7l 0 3367 2211 ge 1%
qt g7 Haga U 99 FEd 7| yqE g Jey a4 oF | 9 a9 e
T O A | A H GAT A AT IEE T AT FHL | 2T F U A 97 uE
TR 4T OEH s T Tg4n 97 | SagEse 29 Fered wgd 2 | a9t
T AT Tl AT ATEH AL0AL AT 7 % 14 x 28 FAY. | Ty ergal it Taray it 220
FT AT 10 x 20 x 40 F.HT. 97 | g7 TH-TAL T THel (FAHEL T2 T9 7 |
Tl ATl T FIAT == 4T |

AT M= E

(1) Tor T
(2) FETaT
(3) AT
(4) ==

[Question ID = 187][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q127]
1. 1 [Option ID = 745]
2. 2 [Option ID = 746]
3. 3 [Option ID = 747]
4. 4 [Option ID = 748]



8 fader : Al Tere #1 297 05 77 747 F ag/aas gugT 997 a7
faoT Fr g7 |
Fewst arat o e % e o $27 T U TET-AT T AT A AT | A TZ TG
OTTEATE | 8 | Agl % AN 29 HigAs 2l Arad I | ATAET 7L A T & T | 99
(B2 B e 0 o e s e 2 B e b e K I 0 B e
AT TE FATT | IRAT T4T  TAT AT a9 F (o7 &7 U o997 39 22l
Tl AT-HLHL o T | oF g1 39 4000 T TIAT 221 U2 AT H FAAAT S0
ATt YerTe At Jre @t | g wrEt Ao ¥ gt A g 7 9 7 zfogm
2000 #ATAT & FATET T8 FAT TAT | GaTe § 0T 37 ag7l 0 3367 2211 ge 1%
qt g7 Haga U 99 FEd 7| yqE g Jey a4 oF | 9 a9 e
T O A | A H GAT A AT IEE T AT FHL | 2T F U A 97 uE
TR 4T OEH s T Tg4n 97 | SagEse 29 Fered wgd 2 | a9t
T AT Tl AT ATEH AL0AL AT 7 % 14 x 28 FAY. | Ty ergal it Taray it 220
FT AT 10 x 20 x 40 F.HT. 97 | g7 TH-TAL T THel (FAHEL T2 T9 7 |
Tl ATl T FIAT == 4T |

FIEAETr | THH 2
(1) &7

(2) 5=

(3) FHETIT

(4) F=rfraT
[Question ID = 188][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q128]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]

3. 3 [Option ID = 751]
4. 4 [Option ID = 752]

Topic:- HIN_Q129-135_L2_P1_S1_CTET



") fRder ; FEfafaa T 71 TEET T8 T T4 F ag/aas guge 997 a5
fameT Fr g7 |
T 1 Fg-Fg, T F T, THT R g =g § AT el frodfe,
9E-SRq FT FTy T, F9 " H @gd 99 AT q9F Wi A ger fEFEed
e, AT T AR, T ZAT HA-I100 7 TATHT FiL Id 5 | Tord F H I g
o orer == AT I F 27 THT 7 T ged 91 @ 2 | g% 9% Wh-EIE,
F-ToToHT, F ZAT, HEAT AT Fg UHT A0 g (o we0T gH FHHl Jo
FTEHTH T S ATHA 1 THT 5 Al (701 91 | T2 T it A=y geamater
F IO FHIT 397 AT S-G9 F 9i0g g, TAY I=499-g0 TEd o g1 i
7 F TS AT AT gF IBT Agl 919 | ATHas Siead § g0 =591 97 97 29
Faferfa 5 7 F19-87 97 F1 I9941 T3 TG F741 ¢ 2

(1) T T 7T AT

(2) T =

(3) HITT =T 77

(4) HT FT eafe
[Question ID = 189][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q129]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]

3. 3 [Option ID = 755]
4. 4 [Option ID = 756]




2) fader : FafofaT Ters &1 w2F 95 T7 7497 F ag/aad gug 997 I
fameT Fr g7 |
T 1 Fg-Fg, T F T, THT R g =g § AT el frodfe,
9E-SRq FT FTy T, F9 " H @gd 99 AT q9F Wi A ger fEFEed
e, AT T AR, T ZAT HA-I100 7 TATHT FiL Id 5 | Tord F H I g
o orer == AT I F 27 THT 7 T ged 91 @ 2 | g% 9% Wh-EIE,
F-ToToHT, F ZAT, HEAT AT Fg UHT A0 g (o we0T gH FHHl Jo
FTEHTH T S ATHA 1 THT 5 Al (701 91 | T2 T it A=y geamater
F IO FHIT 397 AT S-G9 F 9i0g g, TAY I=499-g0 TEd o g1 i
7 F TS AT AT gF IBT Agl 919 | ATHas Siead § g0 =591 97 97 29
TR AT O A TS T F form |

(1) Tg-TE & g

(2) AFFAT H THAT
(3) wrardT =T
(4) arfa= AT

[Question ID = 190][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q130]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]
3. 3 [Option ID = 759]
4. 4 [Option ID = 760]



3) fAder : fAwfofas Terra #1 9FFT 75 T T4 7 ag/aad g I97
fameT Fr g7 |
T T FE-Fg, TII B T, TET A FiA=grAT H IAT @l i g,
73R FT 99 949, F90 Hq § @gd 99 AT HAGF T A ger faEe
e, FA0 T A, FHT AT FH-90070 7 [AHd FL I ¢ | Trg ga H a9 g
= oot = IS T F T uE A W gEd 9T W § | g% 9% 9-ATE,
F-ToToHT, F ZAT, HEAT AT Fg UHT A0 g (o we0T gH FHHl Jo
FTEHTH T S ATHA 1 THT 5 Al (701 91 | T2 T it A=y geamater
7 TR T 390 9T A9T-AT § qiHg g, T4 T=4-gq T g1l it
HZ & FETA T AT ZH IBT A2 9T | ITHAF He=d F oo wqert 07 6 279
Referes | 7 F19-87 51 7 32 17 F1 F07 787 2 2

(1) & FH1e FiT =78

(2) FF FT sl

(3) & gferTiaaT

(4) HeaT FHT AT F HEEAr

[Question ID = 191][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q131]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]
3. 3 [Option ID = 763]
4. 4 [Option ID = 764]




Y fRder : Fefofera =T #7 vz 05 77 T4 % ag/aas o 97 I
fameT Fr g7 |
T 1 Fg-Fg, T F T, THT R g =g § AT el frodfe,
9E-sRq FT FTy T, F90 " H @gd 07 AT q9F Wi A ger fEFEed
ET, WAL T A, FHT ZHTE HA-IT00 7 TAThd FL 30 5 | Teg g H1ama g
5 arer 7w qiEETSr o § g9 9wfa § 3 ged ST W 2 | g% 99 9W-ATE,
F-ToToHT, F ZAT, HEAT AT Fg UHT A0 g (o we0T gH FHHl Jo
FTEHTH T S ATHA 1 THT 5 Al (701 91 | T2 T it A=y geamater
F IO FHIT 397 AT S-G9 F 9i0g g, TAY I=499-g0 TEd o g1 i
A7 H WFlS T A= 2H I3T Al 9T | IR T Jiead § 700 Tqai 97 4 g9
LT ZH HAT Gl ATEHTT 00 AL AT 6 THT oI qgl (7 91d g |' F0FT 7
RIER

(1) FETHTET ATl % FHTI0T gF AT F A1 qg1 943 I7d g |
(2) R § TWEFET THIEAL % FE0 GAT ATFHE (59@TE 7l 2472 |
(3) HEHIEIT =EAATEAT AT 9T AL ATATAL0T 5 FTL01 ZF THA HT AR @ 6

forT & FET THhrer 9T 2 |

(4) AT SAEAATAL # ATAGE 25 T FT AL o 6 (T THg [{wrer a1
% |
@

[Question ID = 192][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q132]
1. 1 [Option ID = 765]
2. 2 [Option ID = 766]
3. 3 [Option ID = 767]
4. 4 [Option ID = 768]



5) fader : fAwfofaa Terra #1 FFT 75 T T4 F ag/aad qugw I97 A
fameT Fr g7 |
T T FE-Fg, TII B T, TET A FiA=grAT H IAT @l i g,
73R FT 99 949, F90 Hq § @gd 99 AT HAGF T A ger faEe
e, FA0 T A, FHT AT FH-90070 7 [AHd FL I ¢ | Trg ga H a9 g
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FTEHTH T S ATHA 1 THT 5 Al (701 91 | T2 T it A=y geamater
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(3) FEAT ATTHTH

(4) FoT-TaF
[Question ID = 193][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q133]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4. 4 [Option ID = 772]
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[Question ID = 194][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q134]
1. 1 [Option ID = 773]
2. 2 [Option ID = 774]

3. 3 [Option ID = 775]
4. 4 [Option ID = 776]
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o orer == AT I F 27 THT 7 T ged 91 @ 2 | g% 9% Wh-EIE,
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[Question ID = 195][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q135]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]

3. 3 [Option ID = 779]
4. 4 [Option ID = 780]
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[Question ID = 196][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q136]
1. 1 [Option ID = 781]
2. 2 [Option ID = 782]

3. 3 [Option ID = 783]
4. 4 [Option ID = 784]
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[Question ID = 197][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q137]
1. 1 [Option ID = 785]
2. 2 [Option ID = 786]

3. 3 [Option ID = 787]
4. 4 [Option ID = 788]
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[Question ID = 198][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q138]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]
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[Question ID = 199][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q139]
1. 1 [Option ID = 793]
2. 2 [Option ID = 794]
3. 3 [Option ID = 795]
4. 4 [Option ID = 796]
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[Question ID = 200][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q140]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]

3. 3 [Option ID = 799]
4. 4 [Option ID = 800]
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[Question ID = 201][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q141]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]

3. 3 [Option ID = 803]
4. 4 [Option ID = 804]
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[Question ID = 202][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q142]
1. 1 [Option ID = 805]
2. 2 [Option ID = 806]

3. 3 [Option ID = 807]
4. 4 [Option ID = 808]
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[Question ID = 203][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q143]



1 [Option ID = 809]
2 [Option ID = 810]
. 3 [Option ID = 811]
. 4 [Option ID = 812]
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[Question ID = 204][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q144]
1. 1 [Option ID = 813]
2. 2 [Option ID = 814]

3. 3 [Option ID = 815]
4. 4 [Option ID = 816]
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[Question ID = 205][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q145]
1. 1 [Option ID = 817]
2. 2 [Option ID = 818]
3. 3 [Option ID = 819]
4. 4 [Option ID = 820]
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[Question ID = 206][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q146]
1. 1 [Option ID = 821]
2. 2 [Option ID = 822]

3. 3 [Option ID = 823]
4. 4 [Option ID = 824]



12) qay @ A=t =1 a2t 7 AT g AT et f ag=2m w79 F oo
Fedl g | 29 & g a8 o fHenfddy & & oa #r 99ag $278rg ?
(1) AT THF TTHFHAT
(2) st @S qod Serar
EEIEREEIRE: GEASILEE T
(4) FTHTT TETESHAT
[Question ID = 207][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q147]
1. 1 [Option ID = 825]
2. 2 [Option ID = 826]

3. 3 [Option ID = 827]
4. 4 [Option ID = 828]
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[Question ID = 208][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q148]
1. 1 [Option ID = 829]
2. 2 [Option ID = 830]
3. 3 [Option ID = 831]
4. 4 [Option ID = 832]
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[Question ID = 209][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q149]
1. 1 [Option ID = 833]
2. 2 [Option ID = 834]

3. 3 [Option ID = 835]
4. 4 [Option ID = 836]
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[Qut[e;tic.m II; =8231]0][Question Description = CTET_P1_PART_5_LANGUAGE_2_SET_124_HINDI_Q150]
2. 2 [Option ID = 838]

3. 3 [Option ID = 839]
4. 4 [Option ID = 840]






